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Question Number : 1 Question Id : 16794311823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
You are given a statement and two assumptions. Choose the comment about assumption from the given options below.

Statements:
The management of ABC Pvt. Ltd. asked the worker’s union to call off strike immediately otherwise the management

would be forced to close down the factory.

Assumptions:
[. No alternative other than closing down the factory is left for the management of ABC Pvt. Litd.

I1.  Such threat may have some effect on the worker’s union.
Options:
% Only assumption I is implicit

» Only assumption II is implicit
» DBoth assumptions I & II are implicit

% Neither assumption I nor II are implicit

Question Number : 1 Question Id : 16794311823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 2 Question Id : 16794311824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the number of triangles in the following figure:

/\

Options:
® 6

« 10

® 11

Question Number : 2 Question Id : 16794311824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 6
« 10
% 11

% 12

Question Number : 3 Question Id : 16794311825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Lalitha walked from a point A straight to B at a distance of 80 metres. She turned right and walked 50 metres, then

again turned right and walked 70 metres. Finally, she turned right and walked 50 metres. How far is she from the
starting point?

Options:
« 10 metres

# 15 metres
% 20 metres

% 50 metres

Question Number : 3 Question Id : 16794311825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fforar 80 #Hiex &1 gff W A g & €1 B @% =@ 38+ &g 98 av #q37 AR 50 FHex =e, O & aw
HsoT 70 Hiex % To 3T A, FF &0 FI AR 50 Hrex =9 a7 et g ¥ el g W e
Options:
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Question Number : 4 Question Id : 16794311826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

There are six children in a family, namely, L. M, N, O, P and Q. L and P are brothers. Q is the sister of P. N is the only
son of L's uncle. M and O are the daughters of the brother of N’s father.

How many female children in the family?
Options:
#® 2

3

®
LA

Question Number : 4 Question Id : 16794311826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
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Options:

% 2
v 3
% 4

% D

Question Number : 5 Question Id : 16794311827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following figures represents Intelligence, Happy. Strong?

(a) @ (b) @
©) Qg (@ @

Options:
# a

Question Number : 5 Question Id : 16794311827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 6 Question Id : 16794311828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct alternative for the following.

KhaaC : CahaK : : DreeG :

Options:
% Gered
% Geerd

# GreeD

« GereD

Question Number : 6 Question Id : 16794311828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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% Gered
% Geerd
% GreeD

« GereD

Question Number : 7 Question Id : 16794311829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the following question, there are two statements labeled as Assertion (A) and Reason (R).Choose the correct
alternative.

Assertion (A): A person with blood group O is considered a universal recipient.
Reason (R): Type O blood does not contain any antigens.

Options:
% A is true but R is false

« A is false but R is true

» Both A and R are true and R is not the correct explanation of A

% Both A and R are false

Question Number : 7 Question Id : 16794311829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 8 Question Id : 16794311830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Arrange the given words in alphabetical order and choose the one that comes last?

Options:
% Devise

# Devotee
« Devour

% Develop

Question Number : 8 Question Id : 16794311830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
% Devise

% Devotee
« Devour

« Develop

Question Number : 9 Question Id : 16794311831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one from the following:

Options:
% Mango

« Cashew

% Apple



w Orange

Question Number : 9 Question Id : 16794311831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
% HIH

Question Number : 10 Question Id : 16794311832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing number from the following.

Options:
# 120

% 224

v 244

b

IJ
LA
=n

Question Number : 10 Question Id : 16794311832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 120

=

% 224
v 244

% 256

Question Number : 11 Question Id : 16794311833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
» Surplus
« Adequacy

% Sufficient

% Empty

Question Number : 11 Question Id : 16794311833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
H L - N i - ot v - . b : =3 a
Enough’ is related to ‘Excess’ in the same way as ‘Sufficiency’ is related to

Options:
» Surplus

« Adequacy

% Sufficient



« Empty

Question Number : 12 Question Id : 16794311834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
You are given two statements and two conclusions. Choose the comment about conclusion from the given options
below.

Statements:
No businessman is poor.
All businessmen are rich.

Conclusions:
I. No poor man is rich.
II. No rich man is poor.

Options:
% Only conclusion I follows

% Only conclusion IT follows

% Both conclusions I and II follow

« Neither conclusion I nor II follows

Question Number : 12 Question Id : 16794311834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 13 Question Id : 16794311835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Five students Ramya, Anu, Mala, Sunitha and Neela are sitting in a circle. Anu is sitting in between Ramya and Sunitha;
to Neela’s right Sunitha is seated, who is seated to Neela’s left?

Options:
% Ramya

« Mala
% Anu

% Sunitha

Question Number : 13 Question Id : 16794311835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
% {1l

« ATl

Question Number : 14 Question Id : 16794311836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the correct alternative for the following.

25:49 :: 81 :
Options:

% 64

« 121



# 169

# 100

Question Number : 14 Question Id : 16794311836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 64
« 121
% 169

% 100

Question Number : 15 Question Id : 16794311837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When communicating information on an important company policy change, what sort of medium would you choose?

Options:
% Oral communication alone

% Written communication alone

» Oral communication followed by written communication

% Written communication followed by oral communication

Question Number : 15 Question Id : 16794311837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 16 Question Id : 16794311838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing character for the following.

1A 2B

Options:
# 46H

# 36H
# 42H

« 39H

Question Number : 16 Question Id : 16794311838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Teag 7 2 & BF W Hid 8@ 9 HI?

14 2B
7 C
21G 18F D
13E
Options:
% 46H
% 36H

% 42H



« 39H

Question Number : 17 Question Id : 16794311839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If “<” means “x’; * > " means * <+ ’; ‘S means * — " and * * * means ‘+°, then what would be the

valueof 24 *6<10>=5 § 10?

Options:
# 10

Question Number : 17 Question Id : 16794311839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 10

% 16

% 2D

« 26

Question Number : 18 Question Id : 16794311840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If you go north, turn right, then right again and then go to the left. In which direction are you going now?

Options:
% North
% South

« East



# West

Question Number : 18 Question Id : 16794311840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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-}
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Question Number : 19 Question Id : 16794311841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A number (integer) is greater than 5 but less than 9. Also, it is greater than 7 but less than 10. The number is:

Options:
® 6

o 3

® 9

Question Number : 19 Question Id : 16794311841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 6
% /

8



% 9

Question Number : 20 Question Id : 16794311842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a certain language, PEACOCK is coded as RGCEQEM, then in the same coding language. how the word REGULAR
will be coded?

Options:
# TFIWNCT

« TGIWNCT
# TGIVNCT

# TGINWCT

Question Number : 20 Question Id : 16794311842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fdr 9T #, PEACOCK = RGCEQEM 3@ J1ar &, I 38T 891 # REGULAR & =7 Br@r smeem?

Options:
% TFIWNCT
v TGIWNCT
# TGIVNCT
# TGINWCT
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794311843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following proposed the Vernacular Press Act in British India, in 1878, to curtail the freedom of the
Indian-language (i.e.. non-English) press?

Options:
» Lord Lytton

» Lord Ripon
% Lord Mayo

# Lord Dufferin

Question Number : 21 Question Id : 16794311843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 22 Question Id : 16794311844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who was the adopted son of the last Peshwa, Baji Rao II?

Options:
# Bhau Sahib

+ Nana Sahib
» Raghunath Rao

w INaravan Rao

Question Number : 22 Question Id : 16794311844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 23 Question Id : 16794311845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who wrote the book ‘Poverty and Un-British Rule in India’?

Options:
» Dadabhai Naoroji

% Subhash Chandra Bose
% Pandit Jawaharlal Nehru

% Bipin Chandra Pal

Question Number : 23 Question Id : 16794311845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 24 Question Id : 16794311846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following countries shares the longest land border with India?

Options:
% Pakistan

% Nepal
» Bangladesh

« Myanmar

Question Number : 24 Question Id : 16794311846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ffof@a # ¥ #la &7 & 9a & a1y a8 o« G477 q=w war 82

Options:

% TehEdre
% et
TG

Question Number : 25 Question Id : 16794311847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% a1
% dgdr

Question Number : 25 Question Id : 16794311847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On which river in Madhya Pradesh is the Gandhi Sagar Dam built?

Options:
% Narmada

« Chambal
% Rewa

% Betwa

Question Number : 26 Question Id : 16794311848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Under which article of the Constitution of India is the Lieutenant Governor of National Capital Territory (NCT)

of Delhi appointed?

Options:
« Article 239

% Article 245
% Article 139

% Article 145

Question Number : 26 Question Id : 16794311848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 27 Question Id : 16794311849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Chief Election Commissioner and the two Election Commissioners draw salaries and allowances
at par with those of the:

Options:
% Cabinet Secretary

# Governors of states

» Judges of the Supreme Court of India

% Speaker of Lok Sabha

Question Number : 27 Question Id : 16794311849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 28 Question Id : 16794311850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is a pro-tem speaker?



Options:
% The speaker of a state assembly who is appointed by the president of India

% The speaker of a hung state or central assembly
% The speaker of an assembly which is dissolved by the governor

» The temporary speaker who presides over the first meeting after the election

Question Number : 28 Question Id : 16794311850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 29 Question Id : 16794311851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the exports of a country exceed its imports, the country is said to have a favourable:

Options:
+ Balance of trade

» DBalance of payment

% Trade deficit

# Invisible Trade

Question Number : 29 Question Id : 16794311851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 30 Question Id : 16794311852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following became the first Indian company to breach $100 billion market capitalisation in April 2018?

Options:
» Tata Consultancy Services

% Reliance Industries Limited
% ArcelorMittal

« Infosys Limited

Question Number : 30 Question Id : 16794311852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 31 Question Id : 16794311853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following monuments was built by Maharaja Sawai Pratap Singh in the year 17997



Options:
« Hawa Mahal

# Victoria Memorial
% Mysore Palace

% Buland Darwaza

Question Number : 31 Question Id : 16794311853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 32 Question Id : 16794311854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Jasrota Paintings can be associated with which of the following states?

Options:
" Jammu and Kashmir

% Sikkim
% Gujarat

% Bihar

Question Number : 32 Question Id : 16794311854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:



« ToER

Question Number : 33 Question Id : 16794311855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is the most commeon folk dance of Rajasthan performed only by women during special
occasions like weddings and festivals?

Options:

« Ghoomar

% KachchhiGhodi dance
% Povadas

% Bhavai dance

Question Number : 33 Question Id : 16794311855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
oo # @ #i9 O T9Ea F G99 37 AF 07 Fao Afgenst g 9w sk e S
iy st & g frar smar g7

Options:

v T

w TS

Question Number : 34 Question Id : 16794311856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Who among the following won gold in the vault event of FIG Artistic Gymnastics World Challenge Cup at Mersin,
Turkey 20187

Options:
» Dipa Karmakar

% Rifda Irfanaluthfi
% Goksu Uctas Sanli

% Bisheshwar Nandi

Question Number : 34 Question Id : 16794311856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

THr 2018 & AT 7 3AST Thangsh fefees SAaTTtes ae8 =oie #9 % alee sa¢ & F=01 9w
g Sar 272

Options:
» BT AT

., wET STHE TS
, Y 3FAE Hiefell

% ﬁ'&?ﬁﬂaﬁ

Question Number : 35 Question Id : 16794311857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The 2020 ICC World Twenty20 Cricket tournament is scheduled to be organized in:

Options:

% India
» Bangladesh
% Canada

« Australia

Question Number : 35 Question Id : 16794311857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



2020 T freT Tad-20 fFke T #F e fBrar s e 2
Options:
% AT

s STTCITEET

% chadlsl

Jaﬁ'@ﬁ‘m

Question Number : 36 Question Id : 16794311858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Which rare gas is present in air. in the greatest amount. by volume?
Options:
v Argon

% Helium
% Radon

« Krypton

Question Number : 36 Question Id : 16794311858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hid W gois AW 9y A we§ Hfaw A A Al 82
Options:

v AR

Question Number : 37 Question Id : 16794311859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following countries is NOT a member of the Shanghai Cooperation Organisation?



Options:
» Tajikistan

» Singapore
« Kyrgyzstan

% India

Question Number : 37 Question Id : 16794311859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Taoad & @ ST I S A9 AT TS FT HSET el 87
Options:

% dTSAIhEdTe

Question Number : 38 Question Id : 16794311860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When is World Blood Donor Day observed every year?

Options:
o TH April

h .
% 30" May

» 14™ Tune

¢ 15 Ily

Question Number : 38 Question Id : 16794311860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e = grar fEw 93 IY &9 A9 Jar 87

Options:



% 7 e
« 30 AZ

e

&132

Question Number : 39 Question Id : 16794311861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Government of India has approved green license plates for:

Options:
% Bicycles

% Boat taxis
« Electric vehicles

% CNG vehicles

Question Number : 39 Question Id : 16794311861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SR THR & AT 58y ol & as P aslr 2 &

Options:

« TTEfRE

, g =gl
« HITAST IEgar

Question Number : 40 Question Id : 16794311862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following holds the record of being the world’s oldest elected leader?

Options:



% Sabah Al-Ahmad Al-Jaber Al-Sabah of Kuwait

» Kim Yong-nam of South Korea
% Mohamed Beji Caid Essebsi of Tunisia

» Mahathir Mohammad of Malaysia

Question Number : 40 Question Id : 16794311862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

C%ﬁ%;g;'zgﬁm#w%ﬁamm@ﬁaﬁﬁ?ﬁmﬁmﬁ%@
:pti;;__r & TeT A-IgAC FoI-Tal HA-Tag
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Arithmetic Ability

Group Number : 3

Group Id : 167943374
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Arithmetic Ability

Section Id : 167943433
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 17
Number of Questionsto be attempted: 17

Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 167943741
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794311863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(0.012)2+0.000000512
{0.012)% —0.000096+0.000064

The value of

Options:
® 0.002

o 0.02
# 0.022

# 0.20

Question Number : 41 Question Id : 16794311863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(0.012)%+40.000000512
: F HeT gl
{(0.012)<—0.000096+0.000064 g
Options:

% 0.002

« 0.02
» 0.022

% 0.20

Question Number : 42 Question Id : 16794311864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2.254+ 1.38 — 1.86 is equal to:

Options:
x1.72

. 1.668



» 1.769

% 1.196

Question Number : 42 Question Id : 16794311864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2.254+1.38—1.86, * TAT 2T £
Options:

% 1.72

. 1.668

» 1.769

. 1.19

Question Number : 43 Question Id : 16794311865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If x = 2472 — 23% — 27%% then what is the digit at unit’s place of x ?

Options:
% 3

o 4

b
LA

Question Number : 43 Question Id : 16794311865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afg x = 2472 —23%1 - 27 x &I THE F TAH T Hi AT HF HI=T?

Options:

® 3
4

% D



% 6

Question Number : 44 Question Id : 16794311866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1 1 1 1 2 7 15 e 1 [
3—+—+—nf———><—+—:af(1—— 1—) is equal to:
2 2 2 &4 3 3 g 3 3

Options:
A 1
# 30

31
# 30

21
% 30

1

w 30

Question Number : 44 Question Id : 16794311866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3 RO N | s I N s |- 2 1
34lalopl 2xloBor(12-12), ¥ T AT ¥
w AR 4 5 3 2 5 3
Options:
1

i
# 30

31
# 30

21
# 30

v 30

Question Number : 45 Question Id : 16794311867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



A cake weight 2 kg. If % of its weight is flour, ; of its weight is sugar, i of its weight is milk and the rest is nuts and
plums, what is the weight of nuts and plums in the cake?

Options:
5

et
28

2k
x28

4 g
x14

41{
ﬁ?g

Question Number : 45 Question Id : 16794311867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T e 2 kg T H E| A 30 a w1 - o oy & - o, Al S e gy ¥ o AW
9TH TF ©H g, O e H SEF HR ToH F IAF FAT g

Options:

S i
28

2k
x28

4 g
x14

41{
ﬁ?g

Question Number : 46 Question Id : 16794311868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The HCF of two numbers is 15 and their product is 18.900. How many such pairs of numbers are possible?
Options:

#® 1



o 4

Question Number : 46 Question Id : 16794311868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& Fel #T AgcaH TAEA® (HCF) 15 & TuT e 3cag 18,900 & 56 YR & #eY & fohdet AT
Options:

% 1

% 2
4

% 6

Question Number : 47 Question Id : 16794311869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The LCM of two numbers is 341. What is their HCF?
Options:

o 1

® 11
® 31

% Cannot be determined

Question Number : 47 Question Id : 16794311869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ar Hel # FgeaH FATEH (LCM) 341 g1 3% Hgedd WHMEAe (HCF) F7ar g2

Options:
v 1

# 11



% 31

. et EF Bar ST AT £

Question Number : 48 Question Id : 16794311870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
E -1

2:2=2:3 ﬁ%;i:s;s,aﬁa:b:cmgﬁ?rr?

a
Options:
% 53269
8 6:5:9
£ 9:5:6
v9:6:5

Question Number : 48 Question Id : 16794311870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IfX:==2:3 and =:
a b b

o e

=5:6,whatisa:b:c?

Options:
® 5:6:9

® 6

L
MO

® 9:

L
=

&92:6:5

Question Number : 49 Question Id : 16794311871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
By selling 20 articles, a person gains an amount equal to the cost price of 4 articles. What is his gain percent?

Options:



Question Number : 49 Question Id : 16794311871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

20 FEgHt Fr TRfr W vw w@fFg # 4 aEgat #F E & TA T AT F A 9o 2T ¢l 38F
aeT @ gfaerT Far g7

Options:

50
—0h
% 3

% 16%
» 20%

% 25%

Question Number : 50 Question Id : 16794311872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A dealer allows a discount of 25% and still gains 25%. If the cost price of the article is T 540, what is it marked price?

Options:
% < 824

% < 840
% < 860

« < 900

Question Number : 50 Question Id : 16794311872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T So, 25% F T WaTA LT g AR R o 37 25% FT aet wrea @ §1 IfE awg 1 A Ao d
T 540 &, o 3@ Rifega et 1 gem?

Options:

% T 824

% T 840



% T 860

« < 900

Question Number : 51 Question Id : 16794311873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A person deposits ¥ 6.400 in a bank. After 6 months, he again deposits the same amount. If bank pays 8% interest
compounded half yearly, how much interest he will get after 12 months of first deposit?

Options:
« < 778.24

% < 537.84
% < 740.64

% < 545.38

Question Number : 51 Question Id : 16794311873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U OfFa d% F T 6,400 F U FAT Fr g1 6 FEAT & I I8 R ¥ I3 & o FET Far g
g &F @ 8% HEANF T H TS AT F1 S fohdl AT A Tgell AT o 12 A=l & a5
3W =T Fr Trgar Tfer greg gefre?

Options:

v X 778.24

% T 537.84

% < 740.64

% < 545.38

Question Number : 52 Question Id : 16794311874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The radius of a base of a cylinder is increased by 100% and its height is increased by 200%. What is percent increase in
the curve (lateral) surface area?

Options:
# 300%

% 400%



« 500%

# 600%

Question Number : 52 Question Id : 16794311874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o=t Fr = gag F MR # 100% sealy Hr S § 9o 3EE F=s 7 200% S g3ealr
S 31 3EF T (5 unediuete) Tag &7 # fhaer gfaea sdeadr et

Options:

% 300%
% 400%
« 500%

% 600%

Question Number : 53 Question Id : 16794311875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A and B take round of a circular path of 50 m. in the same direction, starting from a point P. When B reaches the starting
point P the first time, he meets A there the fourth time. What is the ratio of speeds of A and B?

Options:
w3i:1

Question Number : 53 Question Id : 16794311875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Aa-ﬁTEE-EOm#?ﬁmm,ﬁwﬁ%&nﬁaﬁWﬁgPﬁﬂﬁm %ﬁﬂa{&%lmﬁ,qﬁm
AT fig P R g 7, o 3EHT Helnd A F g @ S gl el 9 wger g1 A iR B #r aify
IS FT 82

Options:

i

% 47
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w
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Question Number : 54 Question Id : 16794311876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A can complete certain work in 20 days and B can complete the same work in 30 days. If both started the work together,
but A left 10 days before the work was completed, in how many days the work would now be completed?

Options:
% 12 day

% 15 day
% 16 day

» 18 day

Question Number : 54 Question Id : 16794311876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A 5T 1 #1 20 RS & 91 #T FaT § J1 B 38T F1 # 30 RF FH U W Febar g1 I A= A
T WY A I HAT W FH A F 10 GF Tger A FH Sisat o 4, o o Tufa 7 =
foraer At & o B = @t B2

Options:

x 12 &
« 156 fea
% 16 fe=

v 18 f&a

Sub-Section Number: 2
Sub-Section 1d: 167943742
Question Shuffling Allowed : Yes

Question Id : 16794311877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (55 to 56)
Cuesticon Label | Comprehension



Study the following table regarding the distribution of students in five
colleges percentage wise. All five colleges offer only three disciplines.

College Discipline
Humanities Commerce | Science | Total Students
A 25% 35% -- 1400
B 20% -- 40% --
& 15% 30% -- 1800
D 28% 32% 40% 2300
E 20% -- 35% 3240
Sub questions

Question Number : 55 Question Id : 16794311878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the number of students in Commerce stream
in college B is 800, how many students are in
all colleges?

Options:
« 1.800

% 1,900
» 2.000

% 2.200

Question Number : 56 Question Id : 16794311879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Total students of Humanities in all 5 colleges
together is what percent of total students in
all colleges, correct to one decimal place?

Options:
% 19.8%



Question Id : 16794311877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (5510 56)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

reatfarEg gl (@9e) F7 3remas &1 ogd 9fged I 9=
Florsl H feanf¥ar & Faver @1 FEwor gwga g1 wsf 9=
FlorAl H Had 3T TSTHHA F&gd [T I &

Flolat EICET)
For | iU | Ramer | For fagameitemor
A 25% | 35% -- 1400
B 20% -- 40% --
G 15% | 30% - 1800
D 28% | 32% 40% 2300
E 20% - 35% 3240
Sub questions

Question Number : 55 Question Id : 16794311878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ifg e B H, I0=a TeTFHA H
faeanfiat $r g=ar 800 g, ar et Fra=r
# et $r o TEmr F4r 2

Options:

« 1,800
« 1,900
2,000

% 2,200

Question Number : 56 Question Id : 16794311879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

mfrua:lﬁ?f = gﬁﬁ'{q‘rﬁj‘q‘r Ca) e H |l
5 Flolsil H Fall H Fol fAgAaaT,
gTaerd 8% U ZAHAT & TUTH dF &7 gR?




Options:

% 19.8%

« 21.5%

% 22.6%

% 24.8%

Sub-Section Number: 3
Sub-Section 1d: 167943743
Question Shuffling Allowed : Yes

Question Id : 16794311880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Juestion Label - Comprehension

Read the line graph which shows the number of boys and

number girls in different departments in a college.

Mumber of Boys and Girls in different department
320 +

280 1
240
200 1

160 4 .
== Mo of girls

120 1 =8 o of boys

Mumber of students

B0

40

A B C D E F
Departments

Sub questions

Question Number : 57 Question Id : 16794311881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What percent are girls of all students in all the

departments (correct to one decimal place)?

Options:
# 52.6%



® 54.8%
« 55.4%

# 55.8%

Question Number : 58 Question Id : 16794311882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which department the percentage of girls is

highest?
Options:
o A
% B

® C

® E

Question Id : 16794311880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Juestion Label - Comprehension

TH Fod H e Quet & 7=+ 3t o=t & gag &
SEd W AE F TS H
fafstea faeme & 3ufam aswt it sl & der

320

280

&

///,\ | Z
W
150 ¢ // \\ : /ff/\;{/ —— w=fral & dEr

,// . o —8— FEHT HT TEAT

2

120

Fafiral &1 srwe
(]
=

Sub questions



Question Number : 57 Question Id : 16794311881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Talr el & weft fagfdat & goar &
wsfaat &1 gfaea a1 ¢ (3% % HeT &
T TF)?

Options:

% 52.6%

% b4.8%
« 55.4%

% 55.8%

Question Number : 58 Question Id : 16794311882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o faser & w=faal &1 gfaeg g9w
Hferer &2

Options:

« A
% B
x C

% E

Sub-Section Number: 4
Sub-Section 1d: 167943744
Question Shuffling Allowed : Yes

Question Id : 16794311883 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuesticon Label | Comprehension



Study the venn diagram that gives the number of candidates

who failed in different subjects. 900 candidates appeared
in the examination comprising Hindi, English, Marathi.

Hindi English

A

Marathi

Sub questions

Question Number : 59 Question Id : 16794311884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the percentage of students who failed in
at least two subjects?

Options:
% 7.5%

8%
# 8.4%

# 8.6%

Question Number : 60 Question Id : 16794311885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the percentage of students who passed in

all three subjects correct to one decimal place?
Options:

% 65.2%

# 65.8%

 66.7%

# 67.2%



Question Id : 16794311883 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

TEgd dea O & aewas Y owA Rfdes Rt #
H@Fﬁﬁ%miﬁ'ﬁemﬁr:wmu a7 T B
a8, e Ak audr fr aEafag ofer & 900 gfard
S B

5

Sub questions

Question Number : 59 Question Id : 16794311884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FH W &H ar fawar # Heearor
gfaenfErat & gfaea F=ar 272

Options:

% 7.5%
« 8%
% 8.4%

% 8.6%

Question Number : 60 Question Id : 16794311885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tt g RAwat # 3T gt #r afaeg
T &, 3eF ZHeT & T T J&7

Options:

% 65.2%




% 65.8%

« 66.7%
% 67.2%
eneral English

Group Number : 4

Group Id : 167943375

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

eneral English

Section Id : 167943434
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 167943745
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794311886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options choose the one that would mean the SAME as wander.

Options:
% focus

" TOa
# concentrate

% reduce



Question Number : 61 Question Id : 16794311886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options choose the one that would mean the SAME as wander.

Options:
% focus

o TOAI
# concenftrate

% reduce

Question Number : 62 Question Id : 16794311887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options choose the one that means the OPPOSITE of

inauspicious.
Options:
» unlucky

% unfavourable
» bropitious

» incapable

Question Number : 62 Question Id : 16794311887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options choose the one that means the OPPOSITE of

inauspicious.
Options:
» unlucky

% unfavourable

» Propitious



% Incapable

Question Number : 63 Question Id : 16794311888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Detect the mis-spelt word from the given options.

Options:
% allure

% dissuade
% business

» broffession

Question Number : 63 Question Id : 16794311888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Detect the mis-spelt word from the given options.

Options:
% allure

% dissuade
s business

» proffession

Question Number : 64 Question Id : 16794311889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

Old people sometimes become hard of hearing,
Options:
» Unable to hear clearly

« Lose their eyesight

% Unable to remember



% Weak and incompetent

Question Number : 64 Question Id : 16794311889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

Old people sometimes become hard of hearing,

Options:
» Unable to hear clearly

« Lose their eyesight

% Unable to remember

« Weak and incompetent

Question Number : 65 Question Id : 16794311890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

As the car neared the bungalow, a curious feeling happy times spent in the past. overwhelmed me.

Options:
% enigma

» nostalgia
% somnolence

% insomnia

Question Number : 65 Question Id : 16794311890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

As the car neared the bungalow. a curious feeling happy times spent in the past. overwhelmed me.
Options:
% enigma



» hostalgia
% somnolence

% insomnia

Question Number : 66 Question Id : 16794311891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: It's raining heavily outside. we order another cup of coffee and some sandwiches?
B: Perhaps we do that.
Options:

« Can; will
» Shall; can
% Need; must

w Must; would

Question Number : 66 Question Id : 16794311891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: It’s raining heavily outside. we order another cup of coffee and some sandwiches?
B: Perhaps we do that.
Options:

% Can; will
» Shall; can
« Need; must

« Must; would

Question Number : 67 Question Id : 16794311892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Fill in the blank in the sentence given below with the correct option.

1§ a car now. [ it last month.

Options:
» Don’t have; had sold

% Having : buy
% Am not having ; sold

% Will not have; was selling

Question Number : 67 Question Id : 16794311892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

i a car now. [ it last month.

Options:
» Don’t have; had sold

% Having : buy
% Am not having ; sold

% Will not have; was selling

Question Number : 68 Question Id : 16794311893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: What are you in the bookshelf?
B: One of my all time favourites. “The Palace Of Illusions.’

Options:
« looking after

% looking around

» looking for



» looking forward to

Question Number : 68 Question Id : 16794311893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: What are you in the bookshelf?
B: One of my all time favourites. *The Palace Of Illusions.’

Options:
« looking after

% looking around
» looking for

« looking forward to

Question Number : 69 Question Id : 16794311894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

It’s time we for the station. I think we must give plenty of time to reach in this rush hour.

Options:
% EO.US

w Start; them
» leave; ourselves

« Start; themselves

Question Number : 69 Question Id : 16794311894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

It’s time we for the station. I think we must give plenty of time to reach in this rush hour.

Options:
% EO. 1S



« Start; them
» leave; ourselves

w Start; themselves

Question Number : 70 Question Id : 16794311895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

Ramesh dropped into college so that he can help his father with the growing business.

Options:
» dropped into college

% he can help

% his father

% growing business.

Question Number : 70 Question Id : 16794311895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

Ramesh dropped into college so that he can help his father with the growing business.

Options:
» dropped into college

% he can help

% his father

» growing business,

Question Number : 71 Question Id : 16794311896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an incorrect sentence. From the given options, select the part that has an error.

A: You love pastries, isn’t it?
B: Yes. but I am too full at the moment.

Options:
% You love

o 1511°1 it
% butIam

% at the moment

Question Number : 71 Question Id : 16794311896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

A: You love pastries, isn’t it?
B: Yes. but I am too full at the moment.

Options:
% You love

" 1501°t it
% butIam

% at the moment

Question Number : 72 Question Id : 16794311897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the P4SSIVE VOICE form of the given sentence.

My husband told me to wait near the entrance till he comes back with the tickets.
Options:
% Till he came back with the tickets I stood at the entrance.

% Istood at the entrance till my husband came back with the tickets.

% Itold my husband to get the tickets while I stood at the entrance.



» 1 was told by my husband to wait near the entrance till he came back with the tickets.

Question Number : 72 Question Id : 16794311897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the PASSIVE VOICE form of the given sentence.

My husband told me to wait near the entrance till he comes back with the tickets.

Options:
% Till he came back with the tickets I stood at the entrance.

% I stood at the entrance till my husband came back with the tickets.
« I told my husband to get the tickets while I stood at the entrance.

» 1 was told by my husband to wait near the entrance till he came back with the tickets.

Question Number : 73 Question Id : 16794311898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the INDIRECT FORM of narration of the given sentence.

“The camel milk business is a ray of hope for our community.” said Raika .a camel breeder from Barmer.” The income
from the milk motivates us to keep our animals.”

Options:
The camel milk business is a ray of hope for our community, said Raika, a camel breeder from Barmer. The income
« from the milk motivates us to keep our animals. he added.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for their community. He
» Turther added that the income from the milk motivated them to keep their animals.

The income from the milk motivated Raika to breed and keep camels. The milk business is the only ray of hope for the
% community.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for our community. He further
w added that the income from the milk motivate us to keep our animals.

Question Number : 73 Question Id : 16794311898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the INDIRECT FORM of narration of the given sentence.

“The camel milk business is a ray of hope for our community.” said Raika ,a camel breeder from Barmer.” The income
from the milk motivates us to keep our animals.”

Options:



The camel milk business is a ray of hope for our community, said Raika, a camel breeder from Barmer. The income
« from the milk motivates us to keep our animals. he added.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for their community. He
» further added that the income from the milk motivated them to keep their animals.

The income from the milk motivated Raika to breed and Keep camels. The milk business is the only ray of hope for the
% community.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for our community. He further
w added that the income from the milk motivate us to keep our animals.

Question Number : 74 Question Id : 16794311899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

Alexey Maresyev was a Soviet pilot. He was shot down not far from Nazi troops. This happened in 1942. He feared he
would be captured by Nazi troops. He crawled in snow for 18 days

Options:
Alexey Maresyev, a Soviet pilot crawled in snow for eighteen days in 1942 to reach his own country. He was shot down
« not far from Nazi troops.

Shot down by Nazi troops, Alexey Maresyev, crawled for eighteen days. to reach his own country. He was a Soviet pilot
% in 1942,

Alexey Maresyev was a Soviet pilot and he was shot down not far from Nazi troops in 1942. Since he feared he would
« be captured by Nazi troops, he crawled in snow for 18 days to reach his Soviet colleagues.

Fearing that he would be captured by Nazi troops. Alexey Maresyev. a Soviet pilot who was shot not far from Nazi
 troops. crawled in snow for 18 days to reach his own people.

Question Number : 74 Question Id : 16794311899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

Alexey Maresyev was a Soviet pilot. He was shot down not far from Nazi troops. This happened in 1942, He feared he
would be captured by Nazi troops. He crawled in snow for 18 days

Options:

Alexey Maresyev, a Soviet pilot crawled in snow for eighteen days in 1942 to reach his own country. He was shot down
« not far from Nazi troops.

Shot down by Nazi troops, Alexey Maresyev, crawled for eighteen days, to reach his own country. He was a Soviet pilot
8 in 1942,

Alexey Maresyev was a Soviet pilot and he was shot down not far from Nazi troops in 1942. Since he feared he would
% be captured by Nazi troops. he crawled in snow for 18 days to reach his Soviet colleagues.



Fearing that he would be captured by Nazi troops. Alexey Maresyev. a Soviet pilot who was shot not far from Nazi
 troops, crawled in snow for 18 days to reach his own people.

Question Number : 75 Question Id : 16794311900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.
Options:

The chronology* of the earlier part of Indian history is uncertain compared to that of china or the mediterranean world.
However this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

% (Word meaning --order of events in which things happened)

The chronology of the earlier part of Indian history is uncertain compared to that of China or the Mediterranean world.
» However, this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

The Chronology Of The Earlier Part Of Indian History Is Uncertain Compared To That Of China Or The Mediterranean
« World. However This Uncertainty Is Often Offset In The Data From Inscriptions Are That Are Usually Precisely Dated.

The chronology of the earlier part of indian history is uncertain compared to that of china or the mediterranean world.
% However this uncertainty is often offset in the data from inscriptions are that are usually precisely dated

Question Number : 75 Question Id : 16794311900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
The chronology* of the earlier part of Indian history is uncertain compared to that of china or the mediterranean world.
However this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

% (Word meaning --order of events in which things happened)

The chronology of the earlier part of Indian history is uncertain compared to that of China or the Mediterranean world.
» However, this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

The Chronology Of The Earlier Part Of Indian History Is Uncertain Compared To That Of China Or The Mediterranean
w World. However This Uncertainty Is Often Offset In The Data From Inscriptions Are That Are Usually Precisely Dated.

The chronology of the earlier part of indian history is uncertain compared to that of china or the mediterranean world.
» However this uncertainty is often offset in the data from inscriptions are that are usually precisely dated
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Question Numbers: (76 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Read the passage given below and answer the questions that follow.

A full length newspaper feature, titled ‘Getting Junior To Junk Junk.’
points out how a diet of pizza, pasta and fries are what an increasing
number of Indian kids are consuming and this combined with a
sedentary lifestyle is leading to a growing child obesity crisis. At 14.4
million, India is now home to the second-highest number of obese
children in the world after China.

Doctors say the obesity crisis shouldn’t be taken lightly. In 2017, a
study revealed that 11-18% of Indian children are obese. “In the
metros, the prevalence is about 25%. The causes are dietary
(preference for fast and refined food, low fibre intake and moving
away from a balanced, home cooked diet) minimal physical activity
and sleep deprivation. Significantly, a 2016 study on the presence of
non-alcoholic fatty liver disease in over 200 children with obesity
revealed that in over 90% of cases, parents were also obese,
underlying the role of ““shared lifestyle in the family.”

Nutritionists say we are raising kids in an ‘obesogenic’ environment,
with several factors making kids vulnerable to weight gain: no access
to walking or cycling tracks to go to school, buildings having more
parking space than playing areas, easy availability of junk food around
and inside school and absence of curbs on food advertising.

The article also brings out why it is important for parents to examine
their own eating habits and lifestyle. While some informed and aware
parents do realize that if they control themselves and align themselves
to healthier food, children will have a foundation for life, many do not.
Parents should ensure that children are involved in different kinds of
physical activities through the week. It’s a way to keep them both
happy and healthy.

An eminent nutritionist suggests that parents should educate their
children not just about avoiding sugar, calories or fat, but they
themselves should set an example by living more responsibly. If
parents themselves have cold drinks. but children are restricted, why
would they listen?

Sub questions

Question Number : 76 Question Id : 16794311902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Choose the correct option.

The theme of this article is
Options:
% Longevity of Indians.

» Childhood obesity crisis in India.
» Irresponsible behavior of modern parents.

« Lifestyles in metropolitan cities versus villages.

Question Number : 77 Question Id : 16794311903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct combination.

Obese children are:

a. Overweight
Devoted to studies
Fond of fast food
House-bound
physically inactive
good musicians
sleep-deprived

g Mo oo

fond of games and sports
Options:
% a.b,.c.d e

Question Number : 78 Question Id : 16794311904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the INCORRECT option.

In all metropolitan cities in India , we have



Options:
» safe cycling tracks for school children

» easy access to fast food
» Ifew playgrounds for children

« Iewer opportunities to walk to school.

Question Number : 79 Question Id : 16794311905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option.

The expression ‘shared lifestyle in the family’
(second paragraph, last sentence) means that parents:

Options:
« are fond of physical activities and sports.

are fond of sweet food and drinks and avoid
- eating vegetables.

» avoid sitting in the house or office most of the time.

% maintain regular hours of sleep.

Question Number : 80 Question Id : 16794311906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option to complete the statement

given below.
Read the title of the article again (sentence one).

If the first junk in this title means to stop using
something, what does the second junk mean?

Options:
% Old and used goods that we do not need any more

« Advertisements and publicity materials



Some place where useful parts of old machines are
» saved and kept

Food that is easy and quick to prepare but not good
« for health.

Question Id : 16794311901 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Juestion Label @ Comprehension



Read the passage given below and answer the questions that follow.

A full length newspaper feature, titled ‘Getting Junior To Junk Junk.’
points out how a diet of pizza, pasta and fries are what an increasing
number of Indian kids are consuming and this combined with a
sedentary lifestyle is leading to a growing child obesity crisis. At 14.4
million, India is now home to the second-highest number of obese
children in the world after China.

Doctors say the obesity crisis shouldn’t be taken lightly. In 2017, a
study revealed that 11-18% of Indian children are obese. “In the
metros, the prevalence is about 25%. The causes are dietary
(preference for fast and refined food, low fibre intake and moving
away from a balanced, home cooked diet) mimimal physical activity
and sleep deprivation. Significantly. a 2016 study on the presence of
non-alcoholic fatty liver disease in over 200 children with obesity
revealed that in over 90% of cases. parents were also obese,
underlying the role of “shared lifestyle in the family.”

Nutritionists say we are raising kids in an ‘obesogenic’ environment,
with several factors making kids vulnerable to weight gain: no access
to walking or cycling tracks to go to school, buildings having more
parking space than playing areas. easy availability of junk food around
and inside school and absence of curbs on food advertising.

The article also brings out why it is important for parents to examine
their own eating habits and lifestyle. While some informed and aware
parents do realize that if they control themselves and align themselves
to healthier food. children will have a foundation for life. many do not.
Parents should ensure that children are involved i different kinds of
physical activities through the week. It’s a way to keep them both
happy and healthy.

An eminent nutritionist suggests that parents should educate their
children not just about avoiding sugar, calories or fat, but they
themselves should set an example by living more responsibly. If
parents themselves have cold drinks. but children are restricted, why
would they listen?

Sub questions

Question Number : 76 Question Id : 16794311902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option.

The theme of this article is

Options:



» Longevity of Indians.
» Childhood obesity crisis in India.
» Irresponsible behavior of modern parents.

» Lifestyles in metropolitan cities versus villages.

Question Number : 77 Question Id : 16794311903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct combination.

Obese children are:

a. Overweight
Devoted to studies
Fond of fast food
House-bound
physically inactive
good musicians
sleep-deprived

g Hh 0 o

fond of games and sports
Options:
% ab.c de

Question Number : 78 Question Id : 16794311904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the INCORRECT option.

In all metropolitan cities in India , we have
Options:
» safe cycling tracks for school children



% easy access to fast food
« Ifew playgrounds for children

» fewer opportunities to walk to school.

Question Number : 79 Question Id : 16794311905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option.

The expression ‘shared lifestyle in the family’
(second paragraph. last sentence) means that parents:

Options:
« are fond of physical activities and sports.

are fond of sweet food and drinks and avoid
v eating vegetables.

% avoid sitting in the house or office most of the time.

% maintain regular hours of sleep.

Question Number : 80 Question Id : 16794311906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option to complete the statement
given below.

Read the title of the article again (sentence one).

If the first junk in this title means to stop using
something, what does the second junk mean?

Options:
% Old and used goods that we do not need any more

» Advertisements and publicity materials

Some place where useful parts of old machines are
% saved and kept



Food that is easy and quick to prepare but not good
« for health.
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Question Number : 81 Question Id : 16794311908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:

% SHTeE
AT

u HIF

Question Number : 82 Question Id : 16794311909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 83 Question Id : 16794311910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘TET fSgeT FEer 998 27

Options:
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 HI¥h

Question Number : 84 Question Id : 16794311911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TS Hea: fhe AR & WA g7

Options:
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Question Number : 85 Question Id : 16794311912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ST T 39gerd o g
Options:
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Question Number : 81 Question Id : 16794311908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:

x JHTeG

 TAATT

x T8

# HIH

Question Number : 82 Question Id : 16794311909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 101 Question Id : 16794311928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to the law of equipartition of energy, calculate the energy of H, (3.2.1).

Options:
% 3/2 RT per mole

» /2 RT per mole
% 7/2 RT per molecule

% 3/2 RT per molecule

Question Number : 101 Question Id : 16794311928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 102 Question Id : 16794311929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hyvdrogen and helium at 0 °C are compressible than/as ideal gas.

Options:
# more

« less
% equally

% Cannot be determined

Question Number : 102 Question 1d : 16794311929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

y forenfea =87 fFar o1 et £

Question Number : 103 Question Id ;: 16794311930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate Boyle temperature of O, gas. given Van der Waal constants a & b as 4 dm®atm mole™ and 8 dm®*mole
(R=0.08206 dm3*atm K™ mole™),

Options:
# 5.09K

—1

# 709K

« 6.09 K



# 8.09K

Question Number : 103 Question Id : 16794311930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
0, 3\ F TTT TIAT FT AT FL, AT =T a1 (Van der Waal) T2ries a 3T b F A FAHw

4 dm3atm mole 2 3T 8 dm3mole™* (R = 0.08206 dm>®atm K 'mole 1) &

Options:

% 5.09 K
% 7.09 K
«+6.09 K

% 8.09 K

Question Number : 104 Question Id : 16794311931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Surface tension of liquid with in temperature.

Options:
« decreases, decrease

% Increases, increase
% lncreases . decrease

» decreases, increase

Question Number : 104 Question Id : 16794311931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 105 Question Id : 16794311932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The graph between time and temperature showing phase changes is called:

Options:
» Thermograph

« Tephigraph
% Mesomorph

% Tephigraph and Mesomorph

Question Number : 105 Question 1d : 16794311932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 106 Question Id : 16794311933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following systems has 7 symmetry elements?

Options:
% Cubic

« Orthorhombic

% Triclinic



» letragonal

Question Number : 106 Question Id : 16794311933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 107 Question Id : 16794311934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The co-ordination number in BCC is:

Options:
® 4

® 6
o 3

% 12

Question Number : 107 Question 1d : 16794311934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 4
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Question Number : 108 Question Id : 16794311935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The fluorite structure is adopted by which of following?

Options:

g 110,
» CaF,
#® /nS

# NaCl

Question Number : 108 Question Id : 16794311935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« Ti0.,

» CaF;
% ZnS

% NaCl

Question Number : 109 Question Id : 16794311936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Meissner effect is shown by:

Options:
% Diamagnetic substances
« Ferromagnetic substances

% Anti-ferromagnetic substances

» Superconductors



Question Number : 109 Question 1d : 16794311936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 110 Question Id : 16794311937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not paramagnetic?

Options:
2 0z

v F
% By

& Both O, and F,

Question Number : 110 Question Id : 16794311937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 111 Question Id : 16794311938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to MOT, the bond order of 03~ is:

Options:
1

® 2

Question Number : 111 Question Id ;: 16794311938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TAHE (MOT) & HFAR, 03 &1 HEY FIfe (I3 IHN) F 87
Options:
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Question Number : 112 Question Id : 16794311939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The structure of CIF; is:

Options:
% Trigonal planar

% Sea-saw

» T-shaped



« Pyramidal

Question Number : 112 Question Id : 16794311939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 113 Question Id : 16794311940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hybridization of XeF, is represented by:
Options:

% SPs

% SP3
% Spad

»~ SpPad;

Question Number : 113 Question Id : 16794311940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

XeF, #r gfasmaa &g g Serar ST 82
Options:
% P>
% SPs3

% Spad
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Question Number : 114 Question Id : 16794311941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following bonds is the strongest?

Options:
% Ionic

% Hydrogen
« Covalent

% Van der waal

Question Number : 114 Question Id : 16794311941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 115 Question Id : 16794311942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Molar conductance, specific conductance with in dilution.

Options:
« Increases, increases

» increases, decreases
w decreases, increases

« decreases, decreases



Question Number : 115 Question 1d : 16794311942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
CLERU H g & Y Ao ATeTehcd & gry 3o areeas gl

Options:

% Fgd, F&am

Question Number : 116 Question Id : 16794311943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Slope = Zero when AE/AV = in potentiometric titrations.
Options:

& maximum

% minimum

# Zero

% nfinity

Question Number : 116 Question Id : 16794311943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 117 Question Id : 16794311944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ion association in electrolyte solution is given by:

Options:
% vant’hoff theory

% Debye — huckel theory
» Bjerrum theory

» Electrolyte theory

Question Number : 117 Question Id : 16794311944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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v TH =
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Question Number : 118 Question Id : 16794311945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Degree of dissociation o for weak electrolyte is when mole conductance and molar conductance at infinity are

given as 4 Sm? mole™ and 8§ Sm? mole .

Options:
# 0



Question Number : 118 Question Id : 16794311945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 0

Question Number : 119 Question Id : 16794311946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate the mean ionic activity of 0.01 molal NaCL

Options:
 0.889
% 0.779

# 0.669

® 0.

N

59

Question Number : 119 Question Id : 16794311946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

0.01 A NaCl Fr gg 3afas sifafafer Fr o= F:
Options:

« 0.889

% 0.779

% 0.669

% 0.559

Question Number : 120 Question Id : 16794311947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The half life of third-order reaction related to the initial concentration of a reactant (a )is:
Options:
« Directly proportional to * a®’

» Inversely proportional to * a*’

1
» Inversely proportional to “az=’

1
« Directly proportional to " az"

Question Number : 120 Question Id : 16794311947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 121 Question 1d : 16794311948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The rate of reaction becomes two-fold or three-fold for every rise of temperature.

Options:
% 1°C

o 10 °C
% 100 °C

% 57

Question Number : 121 Question 1d : 16794311948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT B & giz ¥ forw sf@fFar & a7 & 7= a1 &= 7@ & S 2

Options:

x 12C

v 10 °C
« 100 °C

x 5°C

Question Number : 122 Question Id : 16794311949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following equations represents the mathematical treatment of the classical collision theory?

Options:



» k=P Z exp(-E/RT)
« k=P Z? exp(-E/RT)
% k= P Z exp(-1/RT)

% k=P Z exp(-E/R)

Question Number : 122 Question Id : 16794311949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Prafefle § ¥ #i9 & g0 Iieis gur e (F1ed Fieed W) F a0 ST @
Falrer 27

Options:

« k=P Z exp(-E/RT)
%« k=P 72 exp(-E/RT)
%« k= PZ exp(-1/RT)

« k=P Z exp(-E/R)

Question Number : 123 Question Id : 16794311950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to Lindemann-Hinshelwood mechanism of unimolecular reactions, the rate law for the formation of product is:

Options:

v k1 k3 [A]/ (ks o [A])
% k1 k3 [A) (k3 ko [A])
« k1 k3 [A]?/ (1+k; [A])

« k1 k3 [A]?/ (k3 +ky [A]%)

Question Number : 123 Question Id : 16794311950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TFHATOSF (FAHoFger) FAfFmst F PRAe-Fiags #F=r ¥ 3ur, 3o (FE9<) & Faor &
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Options:

v ki ks [A]*/ (ks +k; [A])
« K K [A) (ks K, [A]
« kil [A]P/ (17K, [A]D

« ki ks [AP /(s +k; [A])

Question Number : 124 Question Id : 16794311951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The conversion of B-glucose to a-glucose in an aqueous solution is an example of:

Options:
% Parallel reaction

+ Reversible reaction
% Consecutive reaction

% Simple reaction

Question Number : 124 Question Id : 16794311951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Teh STolld [aeldsl H B-Tofehlsl I o-Tolhial H FACUT ThHePT Teh 3ETEUl g7

Options:

v AT afafEar
o HfEEeT (R sfafsar
« TS AR

Question Number : 125 Question Id : 16794311952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A plot of Ink against 1/T gives a straight line, whose slope will be given by:

Options:



. —E./2.303R
« —Ea/RT
« —E./2.303RT

, —E./R

Question Number : 125 Question 1d : 16794311952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1/T & TA Ink 7 T (plot) T el T@r &ar &1 37 Ol 1@ 1 ToT (o) 4T 2rem?

Options:
. —E4/2.303R

. —E4/2.303RT

Question Number : 126 Question Id : 16794311953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Flow methods .first developed by Roughton and Hastridge (1923). allow to measure reaction half time in the range
between:

Options:

% 10 secand 1072 sec
% 1071 secand 10~* sec
« 10 secand 1072 sec

% 10 secand 107 sec

Question Number : 126 Question Id : 16794311953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 9% The 3T 2P (1923) gEnr Rwfew vaw (ve) Rfvw fFw g F afafar F o awe
A £ sty

Options:



% 10 sec 31T 1072 sec
% 107 sec 3T 107 sec
10 sec 31T 1072 sec

% 10 sec 3T 107 sec

Question Number : 127 Question Id : 16794311954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A first order reaction is 15% complete in 20 minutes. How long will it take to be 60% complete?

Options:
« 61.2 sec

# 112.7 sec

# 78.3 sec

# 154.6 sec

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 127 Question Id : 16794311954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF Tgel HTET () HT 3T 20 e # 15% o7 & 81 60% IOT g # Ig fohaer wEa o
Options:
« 61.2 sec

% 112.7 sec
% 718.3 sec

% 1546 sec

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 128 Question 1d : 16794311955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Osmotic pressure of solution is 0.3284 atm at a temperature of 300 K. The concentration in mole/litre will be:

Options:



# 0.033

# 0.066

Question Number : 128 Question 1d : 16794311955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
300 K a9A R U faerds &1 SRIE0T g9 0.3284 AT g (atm) &1 WigaT moleflitre 3 FFar

2

Options:

% 0.033
% 0.066
« 0.0133

x 0.133

Question Number : 129 Question Id : 16794311956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
6 g of urea is dissolved in 90 g of boiling water. The vapour pressure of the solution is:

Options:
# 7060.3 mm

% 761.0 mm
® 758.2 mm

« 744.8 mm

Question Number : 129 Question Id : 16794311956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IRAT % 6 g & 90 g 3T IeAr H =il AT g e & a7 gaE F41 grem?

Options:

# 760.3 mm




# /761.0 mm
% 7958.2 mm

« 744.8 mm

Question Number : 130 Question Id : 16794311957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If NaCl ionizes to an extent of 100% in aqueous solution, the value of van’t Hoff factor is:
Options:

% 1

Question Number : 130 Question Id : 16794311957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ife NaCl T Feas & 100% d% 31gfad & A9 2, aF 3 8% SR &1 A9 F41 gem?
Options:

% 1

& 2
% 3

% 0

Question Number : 131 Question Id : 16794311958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The SI unit of molality is;
Options:

% mole. lit™!

« g.equivalent. Kg—!



» mole. Kg™*

% mole. ml™?

Question Number : 131 Question Id : 16794311958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hrenfarer $r Tasms (Sl) =% Fr 2
Options:

% mole. lit™*

« g.equivalent. Kg~?

~ mole. Kg™*

% mole.ml™1

Question Number : 132 Question Id : 16794311959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solution containing 3.4 g of non-ionic solute in 100 g of water was found to be frozen at -0.47 °C

( K¢ of water is 1.86 K.kg. mole™ ). The molar mass of the solute is:

Options:
# 13.5

# 67.25

4

—_
Lad
A
h

Question Number : 132 Question 1d : 16794311959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

100 g 9=ir 7 3.4 g FAlT-3maf=e o are &eae #r - 047 °C TR AT HT I
(qreAT Fr K¢ 1.86 K. kg. mole™! &) forr 1 AR geadA Fr 272

Options:
% 13.5




4

Loy
:-h-]
()
hn

% 33

« 134.5

Question Number : 133 Question Id : 16794311960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following pairs of solutions shows large positive deviations from ideal behavior?

Options:
% Cyclohexane-carbon tetrachloride

» Water-propyl alcohol
% Water-nitric acid

% Acetone-chloroform

Question Number : 133 Question I1d : 16794311960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

oo & faafaf@a g7a @ =i @1 ey sFmer ¥ 537 uacAs ees fewrar 22

Options:

v T - S 3Tehige
« T - ATEEH T

Question Number : 134 Question Id : 16794311961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The partial pressure of bromine over a bromine-carbon tetrachloride solution, containing mole fraction of bromine equal

to 0.05, is 5.12 Torr. If the vapour pressure of pure bromine at the same temperature is 217 Torr, the activity coefficient
of bromine in the given solution is:

Options:
% 047



Question Number : 134 Question Id : 16794311961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FHF-TFEREE e F S8 &7 9 2w 5.12 2 (Torr) €, formd s 0.05 A (mole)
37 & U gl I 38 A9AE W L A F a9 g9 217 2R (Torr) 8, & B a0 Rewa &
S 7 Aatate o 4T gem?

Options:

x 0.47
« 0.94
% 1.93

% 0.768

Question Number : 135 Question Id : 16794311962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
100 mL of | M HCI, 200 mL of 2 M HCI and 300 mL of 3 M HCI is mixed. The molarity of the resulting solution is:

Options:
% 1M

|-
L
(S
=
=

Question Number : 135 Question Id : 16794311962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
1 M HCI & 100 mL, 2 M HCI &T 200 mL 3T 3 M HCI &7 300 mL &3 Bar ST 2 Hred gU
g & AieiEr #4787

Options:

# 1 M



% 2.66 M
« 233 M

% 425 M

Question Number : 136 Question Id : 16794311963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is/are the total number of degrees of freedom for ‘A eutectic mixture in a binary system”?

Options:
® 0

® 1

Question Number : 136 Question Id : 16794311963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TH TEART A F wF EiFew For F R maEar f ST & g F2w geEi?

Options:

% 0
% 1
2

x 3

Question Number : 137 Question Id : 16794311964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an extensive property?

Options:
% Pressure

w lemperature



« Volume

« Density

Question Number : 137 Question I1d : 16794311964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ferafafda & @ #ia @1 v e aur 22

Options:

Question Number : 138 Question Id : 16794311965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The equilibrivm constant of a reaction doubles on raising temperature from 25 °C to 35 °C, then AH" for the reaction
(k] mol™) is:

Options:

d o e |
& DL

o 52.8

#

]
o
td

# 08.2

Question Number : 138 Question Id : 16794311965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T HRGRAT F1 FFaEE e a9AE F 25 °C & 35 °C a9« 9T AT @1 ST §, a9 Afatwar
% forw AH® (K] mol™) T grefr?

Options:

% 37.2

« 52.8



% 76.3

% 98.2

Question Number : 139 Question Id ;: 16794311966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For a given reaction Ny + 3Hy( = 2NHy,y, AH = —92.38K] ., the favourable condition for formation of
Ammonia is:

Options:

» High temperature, low pressure

% Low temperature, low pressure
« High temperature, high pressure

» Low temperature, high pressure

Question Number : 139 Question Id : 16794311966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v & IS MR F T Ny + 3H, = 2NHs(, AH = —92.38k], ¥#ifaar & fasor & fow
Options:

« 3= amAe, @ gae

[ ™

. & T A, @ T @

« 3= d9A, 3=9 o

v o aIHE, 3= gaa

Question Number : 140 Question Id : 16794311967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following relations represents Ostwald dilution law?
Options:
Ca?
K=
Y (1-a)




Ca

xit D
o C

" - (1-a)

#® - (1-al)

Question Number : 140 Question Id : 16794311967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fF=faf@a & @ Fia 77 T (FHA0) HTEaTes JH0T HaA HT gerar g7

Options:
Ca?
K=-
v (1—a)
Coo
K—=— =
% (1—a*)
C
) (=
% (1—e)
® (1—aC)
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Question Number : 141 Question 1d : 16794311968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
298 K 9 PbSO, =T farerzmar qumes 2.5 X 107° &1 PbSO, & Rermar mol litre”! 7 ar g9i?

Options:

% 05x10°°
¢5.0x 1073
% 5.0 x 1073

% 0.5x 1073

Question Number : 141 Question Id : 16794311968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solubility product of PbSO, is 2.5 X 1077 at 298 K. The solubility of PbSO, in mol litre™! is:

Options:
% 0.5x10°°

¢ 5.0x107°
% 5.0x 1073

% 0.5%x1073

Question Number : 142 Question Id : 16794311969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The PP of 0.01M solution of NH,Cl in water at 25°C is: (Given that K, for ammonium hydroxide

=181X 105 & Ky = 1.008 x 10714)

Options:
% 12.26



"

[J‘!
oy
Lad

I

# 10.2

Question Number : 142 Question Id : 16794311969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
25 °C 9T 9= # NH,Cl & 0.01M Freras &1 PH Fam &2 (Ram 71 & smfaas sesiemss & v
K, =1.81x 105 3T Ky =1.008 x 107*)

Options:
% 12.26

% 4.32

Question Number : 143 Question 1d : 16794311970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The hydrolysis constant for the salts of weak base and weak acid is:

Options:
_Kw
« (Ka.Kp)

« Kw. (KaKp)

Kw
% Ka,

Kw
# Kp

Question Number : 143 Question 1d : 16794311970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

?—Iﬁ'&iﬁa—ﬁi‘dg HFeT & G0N & T FH-39ueT F TR F4T 2Em?

Options:




« (K3.Kp)

® KW (KaK’D)

Question Number : 144 Question Id : 16794311971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The P® of a solution, obtained by mixing 5 g of acetic acid and 7.5 g of sodium acetate, and making the volume equal
to 500 ml, is (given that dissociation constant of acetic acid at 25 °Cis 1.8 X 1073 ):

Options:
® 3.45

o 4.78

Question Number : 144 Question Id : 16794311971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
5 g ufafes 3 3T 7.5 g BIfETH vEee #1 &t 500 ml 3G F sEY 9410 10 Feaa Hir
PH a7 grm? (femm arar § 25 °C 9t vfRfes sra &1 Rdea Byt 1.8 X 107° 3))

Options:

% 3.45

v 4.78

% 5.89

% 6.98

Question Number : 145 Question Id : 16794311972 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Which of the following expressions represents the criterion for a reaction to be labelled spontaneous?
Options:
» (dS)yy =0

% (AU)sy >0
% (dG)rp =0

% (dH)sp > 0

Question Number : 145 Question 1d : 16794311972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frafof@a # @ a7 a1 coae frar sfafrar & raafog g & T Aes & gl 872

Options:

» (dS)yy =0
e (dU)gy >0
i (dG)Tp =0

s (dH)sp >0

Question Number : 146 Question Id : 16794311973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following empirical equations represents Freundlich adsorption isotherm?
Options:

X

=
vm— pE



Question Number : 146 Question Id : 16794311973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ferafaf@a & @ #ia & Fergudr g wysfem tsErda AEEas Fr gAdr g2

Options:

o 1M

1
— = kpn
® x p
1
x kn
# m p

Question Number : 147 Question Id : 16794311974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A transition, for which first derivative of the chemical potential with respect to temperature at constant pressure is
discontinuous, is classified as:

Options:
» First order phase transition

% Second order phase transition
% Zero order phase transition

% Lambda transition

Question Number : 147 Question Id : 16794311974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

5 IEaw, owF B R gom W aoAs F o9y #§ 1A awar # 9gen Sgodes HEGOd 6,
= 5w vwR Feiiga R s 37

Options:

» BEC 3= = greied

« THE A B greiree



« ST HTET A Eraierd

y ofF=sT gIEnRE

Question Number : 148 Question Id : 16794311975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

and

The increase in entropy on mixing Neon and Xenon, the mole fractions of which are,

, respectively, is:
(in cal degree™* mol™1)

Options:

# 5.70

# 1.24

Question Number : 148 Question Id : 16794311975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
faifer 3 S, R A sfer Fwer - AR C @ B F@ W ognh & R g aer i
(cal degree ! mol ! &)

Options:

% 5.76

% 1.24
% 4.36

v 3.64

Question Number : 149 Question Id : 16794311976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The temperature coefficient of EMF of the cell is:

Options:
% (?E/2P)r

« (2T/aP)e



« (RE/RT)e

« (T/2E)e

Question Number : 149 Question Id ;: 16794311976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
'xel?*l' 3‘7 %mw &l dI9HTA ﬂq__I‘UIidﬂ e | ?.'7'

Options:

o« (3E/P)r

- (2T/aP)e
P (aE/2T)p

« (oT/2E)p

Question Number : 150 Question Id : 16794311977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Cy for Uranium metal is 6.08 JK™* mol™* at 20 K. The absolute entropy of the metal in JK™ mol™ at 20 K is:

Options:
# 1.01

Question Number : 150 Question Id : 16794311977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
qiferes arg # Cy 20K W 6.08 JK " mol™* gl 20K W urg # =& Tger JK™' mol ™ H T 87

Options:

% 1.01

v 2.02



% 3.03

% 4.04

Question Number : 151 Question Id ;: 16794311978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The change in internal energy and change in enthapy, respectively, for the reversible isothermal expansion of one mole
of an ideal gas at 27 °C, from a volume of 20 dm? to a volume 0f 30 dm?, are:

Options:
% 01,207

% 107,207
s 03,07

% 201,071

Question Number : 151 Question 1d : 16794311978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

27 °C T U% HEY 3qH F TF AT F1, 20dm?® a9 ¥ 30dm?® 3aa=w F BT, FAn IeFAvT
FAAYET vER (NEge Faydas tFgdee) &7 A9l For & aiEds 3t durdr & ofEas #r
gem?

Options:

. 0J.204
« 104, 20 4
2030

x 204, 0J

Question Number : 152 Question Id : 16794311979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to Langmuir adsorption isotherm, a plot of *(p/v)” versus ‘p” will give a straight line with slope equal to:

Options:

W VI'HG]’ICI



Question Number : 152 Question Id : 16794311979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

SETHSY VSHISYA HSHUA & HFER, (p/v) AR ‘p’ Ue el W@ & A & ¢ e @ (@ee)
e & 7 fFaes auey gem?

Options:

s 1[‘“;Irrm:mr::

% KvVmono

«" Vimono

Question Number : 153 Question 1d : 16794311980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Cheese is an example of:

Options:

% Solid in liquid
« Gas in solid
» Liquid in solid

Solid n solid

®

Question Number : 153 Question 1d : 16794311980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
=T (Cheese) fFEaT T 3egror 87

Options:

« 39 H 3H F

L OTF & | &
, 3" H gF &7

wmﬁﬁ?ﬂ

Question Number : 154 Question 1d : 16794311981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following types of catalysis can be explained by the adsorption theory?

Options:
% Homogeneous catalysis

» Heterogeneous catalysis
% Enzyme catalysis

% Autocatalysis

Question Number : 154 Question 1d : 16794311981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTErenyoT fEET F ERr TRl 7 ¥ 9 IR F 3SR0T F GHSET FT TR 87
Options:

% THEATEA 30T

« TSTSH 3SR

Question Number : 155 Question Id : 16794311982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



l+3 -

How many times Al™ jon is more effective than Na* ion in flocculating a negatively charged sol?

Options:
% Two times

% SiX times
« Nine times

% Three times

Question Number : 155 Question Id : 16794311982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Na® & gear # Al*? o Huners 3mfRa §ie &1 3798 (Feeaeaie) & J a7 s g2
Options:

% 8 T

o T T
&,#ra;m

E -

Question Number : 156 Question Id : 16794311983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The coagulating power of an electrolyte for As,S; decreases in the order:

Options:

x Nat= A2 »RBa*?
w PO 25007 361
« PO <S0f~>CI

» Al*® > Mg*? > Na*

Question Number : 156 Question Id : 16794311983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



e faegd-3rTuey @1 As,S; & fov wHiga et &7 ufea fFw &7 & gedr 37
Options:
x Na® > Al > Ba"?

« PO 5850 S0
« PO < S0 S0

o Al Mo PR NaF

Question Number : 157 Question 1d : 16794311984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following are favourable conditions for physical adsorption?

Options:
» Low temperature, high pressure

« High temperature, high pressure
% High temperature, low pressure

% Low emperatre, low pressure

Question Number : 157 Question 1d : 16794311984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
siifes i & R feafafla § @ s & Dl smse §2
Options:

v T A, 3= A

« 3= dI9HAH, 3= g9

» 3= a9AH, FF gEe

Question Number : 158 Question Id : 16794311985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



At critical micelle concentration (CMC), the surfactant molecules:
Options:
% Decompose

% Become completely soluble

« Associate

% Dissociate

Question Number : 158 Question Id : 16794311985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frfewre TRe FEuT (BL.UAH) T, TSHHIRNG (AHFE) U 1 F4T 8T 87

Options:

w TafeT & I9 &

, TOT gorerelier 91 A1 8
» TEAET & AT

Question Number : 159 Question Id : 16794311986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

According to Bronsted-Lowry concept, an acid is a substance that has a tendency to:
Options:

% Donate an electron

» Donate a proton
% Accept an electron

« Accept a proton

Question Number : 159 Question Id : 16794311986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



FIEES-ANT AR % AR, TH IHFal U THT e giar ¢ formsd wgfed g §
Options:

« ToIoEIA & &
» e & #
. Folgeld ol @

% STETeT ot T

Question Number : 160 Question Id : 16794311987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the result for the following calculation with appropriate number of significant figures?

72.46
0.000523%3.249x103
Options:
« 42.6

# 42.64
% 42.643

# 42.6429

Question Number : 160 Question Id : 16794311987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T I’ 39gFd T & Wi AEfaf@a e @ afons F=@r geme

72.46
0.000523x3.249x103

Options:

v 42.6
% 42.64
% 42.643

% 42.6429
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Question Number : 161 Question Id : 16794311988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The SI unit for temperature is:

Options:
» kelvin (K)

% kelvin/sec
« degree centigrade (°C)

% candela

Question Number : 161 Question Id : 16794311988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T $T TH.HE. (SI) TFE FAT 27

Options:



o Fead (K)
% hiedd/UFe
x =3 #@EéErE (°C)

. HaAsaT (candela)

Question Number : 162 Question Id : 16794311989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total number of ions present in 58.44 g of NaCl is;

Options:

x 6.023 x 102
v 1.205 X 10*
® 6023 % 10>

% 1.205 x 107

Question Number : 162 Question Id : 16794311989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
58.44 g NaCl # 39Tdyd ga & Fof FE&AT bkl 82

Options:
% 6.023 x 102

»1.205 x 10*
% 6.023 x 10*

% 1.205 x 10%

Question Number : 163 Question Id : 16794311990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The percentage composition of nitrogen in urea is:

Options:



® 6.67 %
« 46.67 %
# 20 %

# 26.67 %

Question Number : 163 Question I1d : 16794311990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IRAT & TSI & Fioeld FAITe #4T g7

Options:

% 6.67 %

« 46.67 %
% 20 %

% 26.67 %

Question Number : 164 Question Id : 16794311991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The ratio of the masses of oxygen that are combined with one gram of nitrogen in the compounds N,O; and NO is 3: 2.
This statement is correct as per which law?

Options:
% Law of conservation of mass

% Law of definite proportions
» Law of multiple proportions

% Gay Lussac’s law of gaseous volumes

Question Number : 164 Question Id : 16794311991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TifFRr N, 03 3K NO & TF IH A8 & WY HIad M8t & Feads & g 3 : 2 § T¢
Fua e 97 & 3Er @@ 87

Options:




% EEOATH & HIEUT & =IH
wﬁ-’[ﬁﬂ?—l’ﬂﬂmﬁ'ﬁﬁ'ﬂﬂ
Ja'g’aﬁmr-rﬁrﬁ'qw

. T AT FT A-FHE F A

Question Number : 165 Question Id : 16794311992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the limiting reactant, and what amount of Ni(OH); is formed when 25.9 g of NiCl, reacts with 10 g of NaOH?

Options:
« NiCl, and 11.6 g of Ni(OH),

% NICl, and 5.8 g of Ni(OH),
% NaOH and 5.8 g of Ni(OH),

» NaOH and 11.6 g of Ni(OH),

Question Number : 165 Question Id : 16794311992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
S 25.9 g NiCl, 10 g NaOH F @ry fafesar axar g O @fag affens = 8, it Ni(0H), &
fargar AT Fa4T 22

Options:

« NiCl, 3R 11.6 g of Ni(OH),
« NiCl, 3T 5.8 g of Ni(OH),
» NaOH 3T 5.8 g of Ni(OH),

» NaOH 3T 11.6 g of Ni(OH),

Question Number : 166 Question Id : 16794311993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



An organic compound contains 38.7 % C and 9.7 % H by mass. Its molar mass is 62.1 g/mol. What is its molecular
formula?
Options:

% CH;0
# Cﬁleoﬁ

% C3Hs0,

Question Number : 166 Question Id : 16794311993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FEAF AE F A F FFAR 38.7 % Faw (C) AN 9.7 % FHg= (H) § ST AR
SeTA 62.1 g/mol g1 $HeT 31f0as §F &1 272

Options:

o C2 HGGE

. CH;0
¥ CEHIE GE

] {:3 H-’-LGE

Question Number : 167 Question Id : 16794311994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The equivalent weights of AlCl; and BiOCI, respectively, in a precipitation titration with AgNQ,, are (M = molecular weight):

Options:
# M and M/3
# M/3 and M/3

« M/3 and M

% Mand M

Question Number : 167 Question Id : 16794311994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



AgNO; % @ AlCl; 3R BiOC] #r 3/@8iaur eger # HA: Jede 5] &1 82 (M = Hoifas  a979):
Options:

%« M 3T M/3
% M/3 3T M/3
» M/3 3T M

« M 3T M

Question Number : 168 Question Id : 16794311995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The wavelength of photons having energy 3 eV is:

Options:
% 6625 A
v 4140 A

% 3312 A

% 3000 A

Question Number : 168 Question Id : 16794311995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3 eV 3T I Bl Fr FEEET FAT gaT 87
< 6625 A
v 4140 A
% 3312 A

% 3000 A

Question Number : 169 Question 1d : 16794311996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



What is the frequency of the radiation corresponding to the spectral line of lowest energy in L'yman series in the
H- atomic spectrum?

Options:
v 247 x10% s

% 1.22x1077s71
x 164x10 1852

x 378%10%%51

Question Number : 169 Question Id : 16794311996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

H-TTAT0] TeEH # Ssaa A (@) H T98 &7 a1 &7 aueAg @ ¥ getug e &
Hgfed F41 872

Options:

v 247 X 101551
x 122 x107 751
% 1.64 x 10718571

x 328 % 10* 57

Question Number : 170 Question Id : 16794311997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The momentum of a particle with de-Broglie wavelength of 5 A is:

Options:
x 1.33x107%*ms™?

% 1.33x10724 g1

» 1.33xX107**kgms™

« 1.33%X 10" 2%kgm™s

Question Number : 170 Question Id : 16794311997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



5 A & -39 (de-Broglie) TETEe ITer HUT =T HaT FAT &I 87

Options:
% 1.33 X 107** ms™?

w133 X 10t g?
133 % 10 koms

¢ 133 % 10" kam s

Question Number : 171 Question Id : 16794311998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 i e . g & = B & 227 : ;
The uncertainty in the position of an object, moving at a certain speed and weighing 10 g, is 10™ © m. The uncertainty in
its velocity is:

Options:
x 263xX10 3 ms?

% 5.27%x107®ms™!
% 2.63x10°ms?

v 5.27%x103ms!

Question Number : 171 Question Id : 16794311998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

10 g 51 3R vw @fRTa ae ¥ o1fy w a5 g & Bufa # sfafRagar 1072 me) swf 3o A
AT FT gt

Options:
% 263 xXx10 3 ms™?
527 X 107*°ms™1

% 263 x107%*®°ms?

2T R I P msm?

Question Number : 172 Question Id : 16794311999 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The correct set of quantum numbers that describe the differentiating electrons of Si is:

Options:

n=32a 1=1, my == and m5=+§

v
1
ﬁ..n:3rl:{]:m1:+landm5:+§
ﬁ..n:311:1; mj_:{]aﬂde:—E
MH:B,I:Z, m,; = Dandmsz_i

Question Number : 172 Question Id : 16794311999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Si F HTIT-HT SAFIAT T TUT FIA ITF FAEH TEATHT FT FET TS F4T 27

Options:

n=3l=1m,=0and m, = +—
. 2

1
n=31=0 m; = +1andm; :+E

4

n=3,l=1,ml={]3ndm5=—5

4

n=31= 2 m;= 0and m, :_E

-4

Question Number : 173 Question Id : 16794312000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Schrodinger’s wave equation is:

Options:

8%y %y , 9% , emm . B
o Bx? & ay? T Py (B~ Fe=0




oy ¢ , Py, enfm . .
Jax2+ay2+azz+ h2 (E—Vpp=0

g% @Y ¢ . 8nim -
e = ke (E+V) =0

9%y , 8%y , ¢ , sam® . B
$6x2+3.}’3+323+ h? (E-Vy=0

Question Number : 173 Question 1d : 16794312000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Options:
a2y 8%y Bnm -
% 0x%  dy? Oz 2 (E VY =0

s TR a3 aq; 8m’m

v ax? ay? dz= (E V)Lb =4
acy azlp 8m’m -
5 Ox2 dy? dz (E V)LLI =4

a2y acy 621.|.r attm? (E V) = 0

w Ox2 dy? dz

Question Number : 174 Question Id : 16794312001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statements is correct?

Options:
% The number of angular nodes isequalton—[—1
% The number of radial nodes is equal to i — 1

» Total number of nodes equal ton — 1

% The number of radial nodes is equal to /

Question Number : 174 Question Id : 16794312001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Ao ad Fyal & ¥ Hia T TEr 87

Options:

., o) ASH #T FEAT n—/—1 F TR g §
. IO Asg T g=ar n—1 F U AT &
_Jmﬁﬁgﬁmrs—]ﬂ?w?ﬁr?

. e Az@ & gEar [ & suet @ &

Question Number : 175 Question Id ;: 16794312002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Aufbau principle implies that a new electron will enter an orbital for which:
Options:

% n has lower value

% [ has lower value

» The value of (n~/) is minimum

% The value of (n+]) is maximum

Question Number : 175 Question Id : 16794312002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HraTE feTa F7 aead & Fr T 73T SO 3F FET H 99T FOT owms v G # @
e 87

Options:
w 1 F A FH B

w [ FT AT FH &
o (D) FT AH FATH &

o (n+1) F1 AT AAFaH BT

Question Number : 176 Question Id : 16794312003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
Eka-aluminium and Eka-silicon, respectively, are references to:

Options:
% Aluminium and Silicon

« Gallium and Germanium
% Germanium and Gallium

% Silicon and Aluminium

Question Number : 176 Question Id : 16794312003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
sHI-Ta AR AR sE-Afowa wa e d@efa 2
Options:

v e IR FHEE
% AT HT SfomH

, Rfew i vt

Question Number : 177 Question 1d : 16794312004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the IUPAC name of the element with atomic number 1117
Options:

# Unnilennium

% Ununnilinm
+ Unununium

% Ununbium

Question Number : 177 Question Id : 16794312004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



111 9TATY] FE&AT =Tl dcd & [UPAC ATH T 87

Options:

% SATHATATH

Question Number : 178 Question 1d : 16794312005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The element, from the given options, with the highest ionic radius is:

Options:
% Lit

% B3
% F~

v 0%

Question Number : 178 Question Id : 16794312005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 71T Reear 7 ¥ &g a0 & ymas B g=g a3 &2
Options:

% Lit

® BE+
% F~

v 0%~

Question Number : 179 Question Id : 16794312006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The ionization energy of Li in its ground state is 519 kJ/mol. Then its effective nuclear charge is:
Options:
o 1.26

# 1.87

# 0.63

#

I
Lh
I

Question Number : 179 Question Id : 16794312006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Li #r frestad aaeer (138 ) H 3TAH0T Fair 519 kJ/mol g1 o SHRT FeITal ITATL arer T
g2

Options:

v 1.26
% 1.87
% 0.63

% 2.52

Question Number : 180 Question Id : 16794312007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The correct order of first electron affinity values of Al, Siand P is:

Options:
# P>Si>Al

« S1>P>= Al
% Al>P>Si

% Si>Al>P

Question Number : 180 Question Id : 16794312007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Al, Si 3T P $r JuH =T ARG AT (FEE SAFEd Ulhiael HAled) T Tl HH T 872
Options:




x P > 5i > Al

v S > P > Al

%« Al > P > Si

#xSi>Al>P
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Question Number : 181 Question Id : 16794312008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Based on the electronegativity difference between the bonded atoms in molecules, the correct order of ionic character is:

Options:

« LiCl > Cl, > HCl

. CL, > LiCl > HCl



« HCl> Cl, > LiCl

» LiCl > HC1 > Cl,

Question Number : 181 Question Id : 16794312008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HUpt F ImEfeT AR F @ Regamuneaedr ¥ F HUR W, HGfAE FEI0T F TG FH FAT 57
Options:

% LiCl = Cl, = HCI
% Cl; > LiCl > HCl
x HCl = Cl, = LiCl

» LiCl = HCl > Cl;

Question Number : 182 Question 1d : 16794312009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Oxygen brings out the group oxidation state for many elements more readily than fluorine due to:
Options:

» Decreased steric crowding

« Higher electronegativity
% Lower atomic radius

» Higher ionization enthalpy

Question Number : 182 Question Id : 16794312009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HTHIST TR I Joiell H 5 dedl & HHg 1 HGUHIT FTEUT H7 ATUF AW & FAT AT g2
Options:

, 79 TR F3137 (Decreased steric crowding)

[

3= TR UNcHhdT (Higher electronegativity)

®



., H 9TA] =37 (Lower atomic radius)

» 3T HTOATHIOT TATedT (Higher ionization enthalpy)

Question Number : 183 Question Id : 16794312010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The formula of the principal source of heavier lanthanoids, Bastnasite, is:

Options:

% (Ln,Th)PO,
% LnPO,
» LnCO5F

g LnCO,(Cl

Question Number : 183 Question Id : 16794312010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T AeAATSS, AEIATEE, F HET T & I T g7
Options:

. (Ln, Th)PO,

« LnPO,
- LnCO,F

. LnCO,Cl

Question Number : 184 Question Id : 16794312011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hydrogen is predicted to exist naturally in metallic state at:
Options:

% Extremely high temperature

» Extremely high pressure



» Room temperature

» Extremely low pressure

Question Number : 184 Question Id : 16794312011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
EEST & Wpfas ¥ § Uifcas HTEq H F7 AlSE & 1 HJAT 872

Options:
% 30T 3=9 AT W

» HTd 3=9 9 W

% FAL F dTHTT 9T

% 3Ug AT g W

Question Number : 185 Question Id : 16794312012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the electron-precise hydride?

Options:
» GeH,

x BoHg
% H,0

x NH;

Question Number : 185 Question Id : 16794312012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tafe@a § ¥ &9 97 soaca-uaesy (Tu1Y) gEgEs 87

Options:

» GeH,

® BEHE



« H0

» NH;

Question Number : 186 Question Id : 16794312013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the non-renewable energy source?

Options:
% Water

« Coal
% wind energy

% Solar energy

Question Number : 186 Question Id : 16794312013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Feafo@a # ¥ Fi9 31 3=Sm0iT F41 Jg 872
Options:

v FTeT
% T FAm
x WIT FAT

Question Number : 187 Question Id : 16794312014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The standard emf of hydrogen-oxygen fuel cell is:

Options:
# 246V
# 0,62V

v 123V



® 3.69V

Question Number : 187 Question Id : 16794312014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

EESISA-HTFHIST U Ul T AlAF 5.UH.UF. Faar gar 2

% 246 V
% 062 V
«1.23 V

% 3.69 V

Question Number : 188 Question Id : 16794312015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the permanent hardness of water if water contains 46 mg/T. Mg(HCO;), . 36 mg/L Ca(HCO;), .30 mg/L

Mg50, . 24 mg/L CaS0, ., 28 mg/L CaCl, and 10 mgT NaCl?
Options:
» 07.8 mg/L

g 121.5 mg/L

Question Number : 188 Question Id : 16794312015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
i 91T # 46 mg/L Mg(HCO3),, 36 mg/L Ca(HCO;3),, 30 mg/L MgS0,, 24 mg/L. CaSOy,,

28 mg/L CaCl, 3T 10 mg/L NaCl 3ufferg § ar arar $r g sarar #ar 272
Options:

w 07.8 mg/L

x 33.7mg/L



% 33.9 mg/L

« 121.5 mg/L

Question Number : 189 Question Id : 16794312016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the prolonged electrolysis of water to prepare heavy water, the anode and cathode, respectively, are:

Options:
% Steel and nickel

% Nickel and graphite
+ Nickel and steel

% Graphite and steel

Question Number : 189 Question Id : 16794312016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTY T & % T 96T % o §HT a% Regaetr 7, TAE R s wEen w24 g e
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Question Number : 190 Question Id : 16794312017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The dihedral angles in gas phase and solid phase, respectively, of hydrogen peroxide are:

Options:
% 90.2° and 111.5°

% 101.5° and 94.8°



% 132.5° and 70.5°

« 111.5° and 90.2°

Question Number : 190 Question Id : 16794312017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 90.2° 3T 1115°
% 101.5° 3lr 94.8°
% 132.5° 3t 70.5°

» 111.5° 3k 90.2°

Question Number : 191 Question Id : 16794312018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a method for the commercial production of dihydrogen?

Options:
% lane’s process

% Electrolysis of water

« Action of water on metals

% Bosch’s process

Question Number : 191 Question Id : 16794312018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 192 Question Id : 16794312019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Diagonal relation is explained in terms of polarizing power. The correct formula for polarizing power is:

Options:
Ionic charge

% Ionic radius3

Ionic charge

+ lonic radius?

Ionic charge

% lonicradius®

Ionic charge

# lonic radius

Question Number : 192 Question Id : 16794312019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 193 Question Id : 16794312020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
Which of the following is not a biological importance of sodium ions?

Options:
» They activate many enzymes in intracellular fluids

% Iransmission of nerve signals
% They regulate the flow of water

% They are responsible for the transport of sugars and amino acids into the cells

Question Number : 193 Question Id : 16794312020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 194 Question Id : 16794312021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The sodium D-line arises from which electronic transition in sodium atoms formed in the flame?
Options:

% 3st— 34t

« 3p' — 3d*
% 35— 45t

e e iy

Question Number : 194 Question Id : 16794312021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
% 351 5 3d?

% 3pt > ad?
% 3s1 - 4gt

»3st - 3pt

Question Number : 195 Question Id : 16794312022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hydrated salts cannot be formed by:

Options:
% Li

% kK
« Rb
# Na

Question Number : 195 Question 1d : 16794312022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% Li

% K
+ Rb

% Na

Question Number : 196 Question 1d : 16794312023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The formula of phenacite is:

Options:



« BesALSi;0,,
, Be,Sio0,
« MgC0,.CaCo,

« MgS0,.7H,0

Question Number : 196 Question Id : 16794312023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« BesALSi 0,g
~ Be,Si0,
. MgCO0,.CaCO5

. MgS0,.7H,0

Question Number : 197 Question 1d : 16794312024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a polymorph of calcium carbonate?

Options:
« Perovskite

% Calcite
« Aragonite

% Vaterite

Question Number : 197 Question Id : 16794312024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:



Question Number : 198 Question Id : 16794312025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The correct biological function of magnesium is:

Options:

» Important constituent of DNA and RNA
% Important in tertiary structure of protein
» Electrochemical and enzyme-activating functions

% Important in nerve functioning in animals

Question Number : 198 Question Id : 16794312025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 199 Question Id : 16794312026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The metal obtained from the auto reduction of its oxide with sulfide is:



Options:
« Cu

® Zn
% Al
® Fe

Question Number : 199 Question Id : 16794312026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
+« Cu

® Zn
% Al

% Fe

Question Number : 200 Question Id : 16794312027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following has a high Pka value?

Options:
» CH, — CH, — COOH

. CH, — CH(C]) — COOH
« CH,(Cl)— CH, — COOH

« CH(CI), — CH, — COOH

Question Number : 200 Question Id : 16794312027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:



,CH; — CH, — COOH
¢ CH; — CH(CI) — COOH
« CH,(CD) — CH, — COOH

. CH(CD), — CH, — COOH
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Question Number : 201 Question 1d : 16794312028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Takai reaction of aldehydes gives which of the following products?

Options:
# Alkane

« Alkene



5 Alkyne

% Epoxide

Question Number : 201 Question Id : 16794312028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 202 Question Id : 16794312029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an example of dialdehyde?

Options:
% Vanicin

% Buteraldehvde
» Glyoxal

% Furfural

Question Number : 202 Question Id : 16794312029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 203 Question Id : 16794312030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The process by which ketones are formed by the hydrolysis of salts of secondary nitro compounds is known as:

Options:
% Dakin—West reaction

% Fukuyama coupling

w INef Reaction

% Friedel craft’s

Question Number : 203 Question Id : 16794312030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% Eliher-ate HATEHAT

% YRISST FFC

Question Number : 204 Question Id : 16794312031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ketones form derivatives by reacting with ammonia.
Options:

« Imine

% amine

% enamine



% ketal

Question Number : 204 Question Id : 16794312031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

o F

% el

Question Number : 205 Question Id : 16794312032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 205 Question Id : 16794312032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Amines act as:
Options:

% Good electrophiles

% Good mucleophiles

# Lewis bases



» Both good nucleophiles & lewis bases

Question Number : 206 Question Id : 16794312033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Primary and Secondary amines form and on reaction with and

Options:

» imines and enamines: aldehydes and ketones
% enamines and imines; aldehydes and ketones
% Imines and enamines; ketones and aldehydes

% enamines and enamines: aldehydes and ketones

Question Number : 206 Question Id : 16794312033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 207 Question Id : 16794312034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
High basic nature is observed by:

Options:
x C¢HsNH,
» C,H-CH,NH,

« C.H-CH,CH,NH,



» Cyclohexylamine

Question Number : 207 Question Id : 16794312034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

» CeHsNH,
. CcH:CH,NH,

« CcH:CH, CH,NH,

» AsFaleFaEEaAEA (Cyclohexylamine)

Question Number : 208 Question 1d : 16794312035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The product formed in Bischler-Napieralski reaction is:

Options:
» Cyclic imine

% Amine
% Aldehyde

% Nitrile

Question Number : 208 Question Id : 16794312035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 209 Question Id : 16794312036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Carbylamine test is used for the detection of:

Options:
% lertiary amines

% Secondary amines
» Primary amines

% All amines

Question Number : 209 Question Id : 16794312036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 210 Question Id : 16794312037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following act(s) as thermosetting resins?

Options:
% Poly styrene

» Polyesters

% Polyamides



% Polyethylene

Question Number : 210 Question Id : 16794312037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Tafefaa 7 ¥ i am5faftes ISF & & F 73 s/ 82

Options:
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Question Number : 211 Question Id : 16794312038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a polvmeric product?

Options:
% Wood

% Meat
% Cofton

«+ Rubber

Question Number : 211 Question Id : 16794312038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 212 Question Id : 16794312039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Poly oxy methylene is formed from monomers unit:

Options:
» Ethylene oxide

« Trioxane
% Tetrahydro furan

% Caprolactum

Question Number : 212 Question 1d : 16794312039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 213 Question Id : 16794312040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The type of bonding predominant in polymers is:

Options:
% Metallic

% Ionic

« Covalent



% Dipole forces

Question Number : 213 Question Id : 16794312040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 214 Question Id ;: 16794312041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following polymers is non-polar?
Options:

» Polypropylene

% Acrylonitrile
% PVC

% Both Acrylonitrile & PVC

Question Number : 214 Question Id ;: 16794312041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 215 Question Id : 16794312042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a basic amino acid?

Options:
% Aspargine

% Glutamine
" Serine

% Arginine

Question Number : 215 Question Id : 16794312042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 216 Question Id : 16794312043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The B-pleated sheats form the structure of proteins.

Options:
% primary

» secondary

x tertiary



% quarternary

Question Number : 216 Question Id : 16794312043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 217 Question Id : 16794312044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Dansylation is a method to determine:

Options:
» Amino-terminal residue of peptide
% Carboxy-terminal residue of peptide

« Peptide bond

% Both Amino-terminal residue of peptide and Carboxy-terminal residue of peptide

Question Number : 217 Question Id : 16794312044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 218 Question Id : 16794312045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Reef degradation takes place in the presence of:

Options:
» Fe3t

% Fe2*
24
g Mg

% Mn?*

Question Number : 218 Question Id : 16794312045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
v FEE +

% Fe?t

& Mg2+

% Mn?t

Question Number : 219 Question 1d : 16794312046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rickets is caused by the deficiency of:

Options:
% Vitamin- A
« Vitamin - D

% Vitamin- B

% Vitamin- C



Question Number : 219 Question 1d : 16794312046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 220 Question Id : 16794312047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hormone that is not synthesised by the process is:

Options:
% Insulin

« Glucagon

% Somatostatin

« Melatonin

Question Number : 220 Question Id : 16794312047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 221 Question 1d : 16794312048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
PS I and PS II consist of metal ions.

Options:
« Mn?*

x Ca*t
% Fe?*

% Fed*

Question Number : 221 Question Id : 16794312048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
v Mn2+



Question Number : 222 Question Id : 16794312049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Glucose and galactose are:

Options:
% Anomers

» Eplmers
% INon-sugars

% Disacharides

Question Number : 222 Question Id : 16794312049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 223 Question Id : 16794312050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is not responsible for water pollution?
Options:

% Sewage waste



% Pesticides
» Bio-degradable waste

% Radio-active waste

Question Number : 223 Question Id : 16794312050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 224 Question Id : 16794312051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Acid rains are caused due to:
Options:

% 50,

% NO;
» Both 50, & NO,

x CO;

Question Number : 224 Question Id ;: 16794312051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« 50



x NO

» 50, 3R NO, gt

« COz

Question Number : 225 Question Id : 16794312052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Itai disease is caused due to:

Options:
% Mercury pollution

» Cadmium pollution
% Lead pollution

% Sodium pollution

Question Number : 225 Question Id : 16794312052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 226 Question Id : 16794312053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not an antibiotic?

Options:
» Tetracyclins



% Oflaxins
% Cefixime

+ Ranitidine

Question Number : 226 Question Id : 16794312053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 227 Question Id : 16794312054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Valinomycin consists of:

Options:
v K*

# Nat

Question Number : 227 Question 1d : 16794312054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 228 Question Id : 16794312055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compounds that inhibit the action of compounds are:

Options:
« Analgesics

% Antipyritics
« Antihistamines

% Narcotic drug

Question Number : 228 Question Id : 16794312055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% TATCATHF

% Taarsies

x ARPICFH ZT

Question Number : 229 Question 1d : 16794312056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is an antacid?

Options:
% Cimetidine

% Omeprazole



» Both Cimetidine & Omeprazole

% Novestrol

Question Number : 229 Question I1d : 16794312056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« AR
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v TTafefsa 3R Aause aar

« TN

Question Number : 230 Question Id : 16794312057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is a tranquilizer?

Options:
% Oxytocin

« Valium
% Rantac

% Amoxycilin

Question Number : 230 Question Id : 16794312057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 231 Question Id : 16794312058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Drugs that inhibit the growth of bacteria and kill bacteria, respectively, are called:

Options:
» Bacteriostatic, Bactericidal
« DBactericidal. Bacteriostatic

% Both are called Bactericidal

% Both are called Bacteriostatic

Question Number : 231 Question Id : 16794312058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

SR, dFENaEET
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Question Number : 232 Question Id : 16794312059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Isoniazid is an:
Options:

% Analgesic

» Anti-TB drug



% Antipyretic

% Antihistamine

Question Number : 232 Question 1d : 16794312059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% TAToaTded

» TWI-T.B 51

Question Number : 233 Question Id ;: 16794312060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tetracycline are a type of:
Options:

» Analgesics

% Antipyretics
+ Antibiotics

% Antihistamines

Question Number : 233 Question Id : 16794312060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 234 Question 1d : 16794312061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following options represents the correct order of boiling points?

Options:
% Propane < 1,2 propanediol < diethyl ether
» Propane < diethyl ether < 1.2, propanediol

% Propane = diethyl ether >1.2, propanediol

% Propane = diethyl ether =1.2, propanediol

Question Number : 234 Question Id : 16794312061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« T < 1,2, GRFEEATS < IRV $W

o 99 < IEURE W < 1,2 9VasEdie

» IO > EEUfAE SR > 1,2 YrNasSare

» 9O = IEUfd AT = 1,2, 9SS ATS

Question Number : 235 Question Id : 16794312062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Dow’s process is used for the preparation of:

Options:
% Alcohols

% Ethers



% Alkyl halides

+ Phenol

Question Number : 235 Question 1d : 16794312062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

x HoRIE
5 W
x HCHE EOTSS

v TohaTer

Question Number : 236 Question Id : 16794312063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is a secondary alcohol?

Options:
. CH, =CH—CH,—OH

 CH, — CH(C,Hs) — OH
w CH,—CH,~CH, —0H

« CH, — CH(CH,) — CH, — OH

Question Number : 236 Question Id : 16794312063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« CH, = CH — CH, — OH

»CH; — CH(C,Hs) — OH



« Ol —CH, — O, — g

« CH; — CH(CH;) — CH, — OH

Question Number : 237 Question Id : 16794312064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The TUPAC name of the following is:

CH, — C(CH,) = C(Br)— CH, — CH,0H

Options:
» 2-Bromo-3-methyl but-2-en-1-ol

% 2-Bromo-3-methyvl butanol
% 2-Bromo-3-methyl but-4-ol

% 2-Bromo-3-methvl but-2-en-4-ol

Question Number : 237 Question 1d : 16794312064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

CH, — C(CH,) = C(Br)— CH, — CH,O0H =T |IUPAC T &aT 27
Options:

» 2-Bromo-3-methyl but-2-en-1-ol

« 2-Bromo-3-methyl butanol
« 2-Bromo-3-methyl but-4-ol

« 2-Bromo-3-methyl but-2-en-4-ol

Question Number : 238 Question Id : 16794312065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Oxygen atom of alcohol is:

Options:
% Sp°

3

v 5P



% Sp

« Both Sp? & Sp?

Question Number : 238 Question Id : 16794312065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« Sp? 3 Sp? @&t

Question Number : 239 Question Id : 16794312066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Pka value is highest for:

Options:
+ Ethanol

% Phenol
% Acetic acid

% Both Ethanol & Phenol

Question Number : 239 Question Id : 16794312066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« Tohater



« TTATEH 3+

Question Number : 240 Question Id : 16794312067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following does not react with K, Cr,0,?

Options:
% Primary alcohol

% Secondary alcohol
» Tertiary alcohol

% All alcohol

Question Number : 240 Question Id : 16794312067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
et # @ 37 K,Cr,0, ¥ 8wy #AHFar 78 e 272

Options:

& STUTHS Hewigel
. SIadTT Mowigd

, AT i

. T 3teepiger (All alcohol)

Subject Related
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Group Id: 167943384
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Section Id : 167943443

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 241 Question 1d : 16794312068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Haloalkanes cannot be prepared by:

Options:
% Electrophilic addition

« U.V light
« Electrophilic substitution

» Nucleophilic substitution

Question Number : 241 Question 1d : 16794312068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gollCeshd fohdeh EaRT &I §ATT ST Hehdl 27

Options:

. Solagihielsh AEcHS
o . =T FeRTer

. SolaeIThioreh FaEuTa=

T3 thToleh FiceeTde

Question Number : 242 Question Id : 16794312069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Which of the following takes part in SN? reaction?

Options:
% CH; — C(X), — CH,

u CH,— Gl —EH,
® CHE_ i CHE e X

2 ELX

Question Number : 242 Question Id : 16794312069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT & ¥ i SN2 3@ & orer oar 272

Options:

i {:HE s {:(X)z = {:HE
« CH, — CHX — CH,
» Ol —CH, — X

o CH:X

Question Number : 243 Question Id ;: 16794312070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following participates fast in SN mechanism?

Options:
# R-F
% R-Cl
# R-Br

« R-1

Question Number : 243 Question Id : 16794312070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% R-F

% R-Cl

% R-Br

 R-I

Question Number : 244 Question 1d : 16794312071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Cly AqKOH ) )
Toluene — X » Y. In this reaction, X and Y are:

Options:
% Vinyl chloride. Benzyl alcohol

» Benzyl chloride, Benzyl alcohol
« Benzyl alcohol, Benzyl chloride

% Benzyl chloride, phenol

Question Number : 244 Question Id : 16794312071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 245 Question Id : 16794312072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

x CN™
« EDTA
% NCS™

x Cl™

Question Number : 245 Question 1d : 16794312072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which ligand is used in elimination of harmful radioactive metals from the body?

Options:
# CN™

« EDTA
% NCS™
% Cl-

Question Number : 246 Question 1d : 16794312073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
[Pt(py).])**. [PtCl,]? is an example of;

Options:
% Cationic complex

% Anionic complex
» lonic complex

% Neutral complex

Question Number : 246 Question Id : 16794312073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

[Pt(py).J**.[PtCl,]*" foFuerr T 3ETeR0T 872

Options:



% thicdllelsr FiFcolard
% AT Fiecosg
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Question Number : 247 Question Id : 16794312074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
[NiCl,]?  ion is:
Options:

« sp®. Diamagnetic

 Sp? . Paramagnetic
2 v .
% dsp<. Diamagnetic

» dp?. Paramagnetic

Question Number : 247 Question 1d : 16794312074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

[NiCl, )%~ amaa sar gar 872

Options:

. :
. Sp°, Ff - Jehr
_ sp?, e
o 33

' _
., dsp?, gfa-=Em

. ok
#® dp : 3.3

Question Number : 248 Question Id : 16794312075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many number of electrons are donated by ligands in [Ni(en),]** ?



Options:
# 3

® 6
« 12

® 14

Question Number : 248 Question Id : 16794312075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
[Ni(en),]** & iz carr fae seear fow o9 2
Options:

% 3
% 6
o« 12

% 14

Question Number : 249 Question Id : 16794312076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which d-block elements has highest oxidation state?

Options:
% Mn

« Os

% Pd

Question Number : 249 Question 1d : 16794312076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% Mn




«w Os
% Pd

% Nb

Question Number : 250 Question Id : 16794312077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Mn-Cu alloys indicate behaviour.
Options:

» diamagnetic

% paramagnetic
» ferromagnetic

% antiferromagnetic

Question Number : 250 Question Id : 16794312077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mn-Cu &1 erg e =R F1g £

Options:

Question Number : 251 Question Id : 16794312078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the correct order of magnitude of A ?

Options:

% [Co(CN)¢]*™ > [Co(NH;)e]** > [Co(H,0)¢]**



o [Co(H;0)¢]** > [Co(NHy)]** > [Co(CN)e]*~
% [Co(NH3)sJ** > [Co(H,0)6]** > [Co(CN)sT*~

% [Co(CN)¢]®™ > [Co(H,0)4** > [Co(NH;3)4]**

Question Number : 251 Question Id : 16794312078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. [Co(CN) >~ > [Co(NH5)c]3* > [Co(H,0).**
»[Co(H;0)6]3* > [Co(NH;)]** > [Co(CN)6]3~
. [Co(NH3)6]?* > [Co(H,0)c]3* > [Co(CN) P~

w [CO(CN)¢]*™ = [Co(H,0).]*" = [Co(NH;3)]**

Question Number : 252 Question Id ;: 16794312079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rare earths are also called:
Options:

% II A group elements

% 4d-block elements
« 4f-block elements

% St-block elements

Question Number : 252 Question Id : 16794312079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

.11 A =g oo




% 4d-=1TeF deT
v Af-=el acF

« Bf-zolier ded

Question Number : 253 Question Id : 16794312080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which option represents the correct basicity order?

Options:
« La(OH), ~ Lu,0, > Lu(OH), ~ La,0,

« Lu(OH), > La(OH), > Lu,0; > La, 0,
» La(OH), % La, 0, > Lu(OH), ~ Lu,0,

% INone of these options

Question Number : 253 Question Id : 16794312080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pl T FreT aiTar & TEr FH F Zehar g2

Options:

« La(OH); = 1,05 > Tal0H), = La:0,

¢ Lu(OH); = La(OH); > Lu,0; > La, 04
» La(OH); =~ La, 03 > Lu(OH); ~ Lu,0,

» T fSFent 7 ¥ FE

Question Number : 254 Question 1d : 16794312081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which pair of elements from below have the same atomic radii (in A”)?

Options:
# Vand Nb



% Coand Rh
# Scand Y

+« Wb and Ta

Question Number : 254 Question 1d : 16794312081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

%« V 3T Nb

%« Co 3T Rh
« Sc 3Ty

+»Nb 3T Ta

Question Number : 255 Question Id : 16794312082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the correct decreasing order of complex formation with ligand?

Options:
s Lt = La®*t > En*

% Ln*t > [n% > Intt
% Ln?t > Lntt > En®t

% ILn3t > [n?t > Intt

Question Number : 255 Question Id : 16794312082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
F=faf@a & @ #ia o OFfe 5 o Sfta soq (Fircesw BrHTa) FT Ha uedT 7 27

Options:
s Lntt =In*t = 1In?f




w Ln?F =it = Int
x Ln*F = In* = In?"

w Ln®* = In®F = 1Ia%

Question Number : 256 Question Id : 16794312083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

How many 3C — 2e™ bonds are in diborane?
Options:

® 1

Question Number : 256 Question Id : 16794312083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

SEaRa H fFaa 3C — 2e” ¥EY 2 &7
Options:

% 1

2
% 3

% 4

Question Number : 257 Question Id : 16794312084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which option represents the correct order of stability?

Options:
% ICI>CIF>BiF =1F

% CIF > BrF > IF > ICl



« IF > BrF > CIF = ICl

% None of these options

Question Number : 257 Question 1d : 16794312084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

x ICI>CIF > BrE > IF

% CIF > B1F > IF > ICl

v IF > B1F > CIF > ICl

Question Number : 258 Question Id : 16794312085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Iodine reacts with excess of fluorine to form:
Options:

,IF,
x IFs
% 2Fg

x IF;

Question Number : 258 Question Id : 16794312085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

%

% IFg



® IEFE

« IF3

Question Number : 259 Question Id : 16794312086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the shape of IF, ™ ?

Options:
% Tetrahedral

% Bent
% Square planar

« Seasaw

Question Number : 259 Question Id : 16794312086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IF,* #r smpfy & g &7

Options:

TTSHoTehIT (STTES)

® P

« T (32)

« T e (TFERR “TeR)
v "r-ar

Question Number : 260 Question Id : 16794312087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following configurations have strong distortion?

Options:
& 2
% 128 eg

x 1,8 eg



Question Number : 260 Question Id : 16794312087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
6 2
% 1287 eg
4 2
x L8 eg
3 1
o g eg
0 0
% L8 eg
Subject Related
Group Number : 14
Group Id: 167943385
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
subject Related
Section Id : 167943444
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 167943757



Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 16794312088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Diborane reacts with excess of NH; at high temperature to form:

Options:
% Boric acid

% Borazine
% ByHig

+ Boron nitride

Question Number : 261 Question Id : 16794312088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% SR 3FT

® Bd-HlO
» RIS

Question Number : 262 Question Id : 16794312089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which option represents correct arrangement per metallic character of given elements?

Options:
# B<Tl<In<Ga
« B<Ga<In<TIl

# Tl<In<Ga<B

# Tl<Ga<In<B



Question Number : 262 Question Id : 16794312089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fia T Tweq fow 71w It & 9fa afcas =01 Fr T =@ #r gnar 82

Options:

# B<TI<In<Ga

¢ B<Ga<In<Tl
x TI<In<Ga<B

# TI<Ga<In<B

Question Number : 263 Question Id : 16794312090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which option represents the correct decreasing order of shielding effect?

Options:
v s>p>d=>1
® f=d =5 P

" f=d= p=s

® gs=f>(d = p

Question Number : 263 Question Id : 16794312090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

sSmp=dat

g f>d>s>p

«f>2d>p>s

xS>f>d>p

Question Number : 264 Question 1d : 16794312091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
Which oxides react with B, O, to form metaborates?

Options:
% Acidic oxides

« Basic oxides
% Salts

% Both Acidic oxides & Basic oxides

Question Number : 264 Question Id : 16794312091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 265 Question 1d : 16794312092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The molecular formula of Borax is:

Options:
« Na,B,0..10 H,0

« Na,B,0..10 H,0

« Na,B,0..10 H,0

Question Number : 265 Question Id : 16794312092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. Na,B;0:.10 H,0
»Na,B,0,.10 H,0

. Na,B,0:.10 H,0

Question Number : 266 Question Id : 16794312093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The element Si is obtained by reducing 510, with:

Options:
% Graphite

% Diamond
« Coke

% Preons

Question Number : 266 Question Id : 16794312093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 267 Question Id : 16794312094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calcium carbonate is strongly heated to form:



Options:
% Sodium carbonate

« Calcium oxide
% Sodium oxide

% Calcium

Question Number : 267 Question Id : 16794312094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 268 Question Id : 16794312095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a low spin square planar complex?

Options:

x [NI(CN),1*~
« [PdCL]*
« [Pt(NH;),]**

» All of the options

Question Number : 268 Question Id : 16794312095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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» INi(CN), ]2
. [PACL, 1>
« [PE(NH5),]*

v T e

Question Number : 269 Question Id : 16794312096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Combination of ‘n’ atomic orbitals gives molecular orbitals.
Options:

# n+l

# n—1

¥ I

# n+ 2

Question Number : 269 Question Id : 16794312096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 270 Question 1d : 16794312097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The boiling point does not depend upon:
Options:

» Solubility of compound in water



» Polarity of molecules

% Size of molecule

% Hydrogen bonding

Question Number : 270 Question Id : 16794312097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 271 Question Id : 16794312098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which method is suitable for separation of organic compounds from aqueous solutions?

Options:
% Fractional distillation

% Distillation
% Steam distillation

« Solvent extraction

Question Number : 271 Question 1d : 16794312098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 272 Question Id : 16794312099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On reaction with water, calcium carbide gives:

Options:
% Methane

% Carbine
» Acetylene

» Acetaldehyde

Question Number : 272 Question Id : 16794312099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 273 Question 1d : 16794312100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Cyclobutadiene is:

Options:
% Aromatic

« Antiaromatic



% Homoaromatic

% Nonaromatic

Question Number : 273 Question Id : 16794312100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 274 Question Id : 16794312101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which compound has magnetic susceptibility?

Options:
% Benzene

% Naphthalene

« Anthracene

% Azulene

Question Number : 274 Question Id : 16794312101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 275 Question Id : 16794312102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chlorination of alkanes is an example of:

Options:
« Free radical

% Addition
% Substitution

% Elimination

Question Number : 275 Question Id ;: 16794312102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 276 Question 1d : 16794312103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Alkadienes are classified into types.

Options:
#® 1



Question Number : 276 Question Id : 16794312103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 1

Question Number : 277 Question Id : 16794312104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following compounds reacts with conjugated diene to form cyclohexene?

Options:
% Hexane

% 1.3.5-hextriene
» Dienophile

% Bromo benzene

Question Number : 277 Question Id : 16794312104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 278 Question 1d : 16794312105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
The number of equatorial chlorine atoms in PCl; is:
Options:
# 4

Question Number : 278 Question Id : 16794312105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 279 Question Id : 16794312106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following has Zero(0) dipole moment?
Options:

» NHj

» H,0

Question Number : 279 Question Id : 16794312106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

» NH;
. H,0
o CEHE

% NO

Question Number : 280 Question Id : 16794312107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Allene must have which type of hybridization?

Options:
3
% Sp°d

Question Number : 280 Question Id : 16794312107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Subject Related



Group Number : 15

Group Id : 167943386
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943445

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 167943758
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 16794312108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options

Transfer of learning is said to be positive when:
Options:

% the previous learning hinders the present learning
» the previous learning facilitates the present learning

% the previous leaning has no effect on the present learning

% the present learning is not related to the previous learning

Question Number : 281 Question Id : 16794312108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



T v Rt 7 ¥ B v 1 9w = Aeafa@a 9w w1 9@ Y

@ & FEATaUT T&FHIcHs AT AaT &
Options:

. el RIeT IqAT e H 9T STelar g

_Jmmdéﬂlﬁ AT H Gl FeI e &

« ol T T I9AT TS W F JAT ALY IST &

« TOATT HeTTS e e T wefag A6

Question Number : 282 Question Id : 16794312109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Participating in community activities and becoming a part of the society is a process of:
Options:
« Socialisation

% Acculturation

« Integration

% Modernisation

Question Number : 282 Question Id : 16794312109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 283 Question Id : 16794312110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing the right pair from the given options.

Dramatisation without words can be seen in:
Options:
» Pageant and Tableau

% Role Play and Pageant
% Play and Drama

% Puppetry and Role Play

Question Number : 283 Question Id ;: 16794312110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 284 Question Id : 16794312111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What are the tests that a teacher administers to plan interventions called?

Options:



% Formative assessment
% Informal assessment

» Diagnostic test

% Pre-test

Question Number : 284 Question Id : 16794312111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 285 Question Id : 16794312112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

Words that mean different in different contexts. like the word “cloud’. could be a type of barrier in listening.
Options:

% Pphysical factor

» linguistic factor

% psvychological factor

% emotional factor

Question Number : 285 Question Id : 16794312112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 286 Question Id : 16794312113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the evolving trends in education, new disciplines are emerging. Identify one such discipline from the given options.

Options:
% Mathematics

» Curriculum development
% Philosophy

% Political science

Question Number : 286 Question Id : 16794312113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 287 Question Id : 16794312114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

Gender is a

Options:
+ Social difference

% Natural difference

« DBilological difference

% Legal difference

Question Number : 287 Question Id : 16794312114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 288 Question 1d : 16794312115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Generic knowledge about pedagogy is:
Options:
% knowing the content well

» knowledge about learning theories



» knowledge about various disciplines

% knowledge about educational policies

Question Number : 288 Question Id : 16794312115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 289 Question Id : 16794312116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Learning Mathematics is easy for children with high:
Options:

» logical and spatial abilities

« logical and linguistic abilities

% Visual and auditory abilities

« mathematical and reasoning abilities

Question Number : 289 Question Id : 16794312116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 290 Question 1d : 16794312117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Reading articles about the latest developments in respective disciplines is a way of:
Options:
» professional development

% Spending time
« knowing new things

% getting to know latest news

Question Number : 290 Question Id : 16794312117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 291 Question Id : 16794312118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options
Pantomime is a form of dramatisation that is based on:

Options:
% long dialogues and music
» facial expressions and music

% mimicry and rhymes

% sound and lights

Question Number : 291 Question 1d : 16794312118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 292 Question Id : 16794312119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Creativity is developed through music when students are assigned the tasks of:



Options:
» Synthesising thematic poetry

% singing songs
% choreography

% leciting poems

Question Number : 292 Question 1d : 16794312119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 293 Question Id : 16794312120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

Execution of two or more programs at a given time by a single CPU, such as in a laptop or desktop.

is known as
Options:

% Multiprocessing
» Multitasking

% Multitracking

% Mass Execution



Question Number : 293 Question 1d : 16794312120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 294 Question Id : 16794312121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the limitation of Internet-based education from the following options.
Options:

% Lesser resource usage

» Limited experience of classroom dynamics

% Distributed across multiple locations

% Less content coverage

Question Number : 294 Question Id : 16794312121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 295 Question Id : 16794312122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Environmental awareness is best created through which of these subjects?

Options:
% Sclence

% Social sciences

» All subjects studied at school

« lLanguages

Question Number : 295 Question 1d : 16794312122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 296 Question Id : 16794312123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is NOT related to learning theory?

Options:
% Behaviourism

% Cognitivism



« Conservatism

% Constructivism

Question Number : 296 Question Id : 16794312123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 297 Question Id : 16794312124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

In a statistical distribution table, class interval is measured as

Options:
» the difference between the upper and the lower limits
» half of the difference between the upper and the lower limits

% the sum of the upper and the lower limits

 half of the sum of the upper and the lower limits

Question Number : 297 Question Id : 16794312124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 298 Question Id : 16794312125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chain Notes is a method of evaluation that checks the student’s reflection about which of the following?

Options:
% Teaching learning material

% Teaching methods

« Content

» Teacher’s explanation

Question Number : 298 Question 1d : 16794312125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 299 Question Id : 16794312126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option.

Introducing Special schools for students with Special Educational Needs (SEN) in reality is a way of:

Options:



% Supporting them
% allowing them space for being themselves
% gZiving them special attention

» Isolating them

Question Number : 299 Question Id ;: 16794312126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 300 Question Id : 16794312127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Distortions and omissions are clear cases of which type of disorders?

Options:
« Hearing
% Visual

» Speech

% Attention

Question Number : 300 Question Id : 16794312127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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